Kansas Register

Vol. 40, No. 51

December 23, 2021

Pages 1737-1768



Page

In this issue ...

Legislative Branch

Legislative Administrative Services	
Interim Committee Schedule	1739

Rates

Pooled Money Investment Board	
Notice of Investment Rates	9

Notices

Kansas Department of Administration – Office of Facilities and Property Managemer Notice of Requested "On-Call" Architectural Services	
Kansas Department of Administration – Office of Procurement and Contracts	
Notice to Bidders for State Purchase17	'40
Kansas Department of Health and Environment	
Notice Concerning Water Pollution Control Permits and Applications	'40
Notice of Hearing for Advantek Cavern Solutions, LLC	'42
Kansas Department of Transportation	
Notice to Contractors for January Letting Information17	
Request for Comments on STIP Amendment	'44
Watco/Kansas & Oklahoma Railroad	
Request for Proposals for Bartlett Track Expansion17	'45
South Kansas and Oklahoma Railroad	
Request for Proposals for Right of Way Tree and Brush	
Cutting/Clearing Project	'46
Request for Proposals for Materials for Frank Phillips	
Boulevard Railroad Crossing Project17	'47
Request for Proposals for Cornell Shop Track and Crossing	
Rehabilitation Project17	'48

Bonds

Unified School District No. 426, Republic County, Kansas (Pike Valley) Summary Notice of Bond Sale
Unified School District No. 108, Washington County, Kansas (Washington County Schools)
Notice of Intent to Seek Private Placement General Obligation Bonds
Rice County, Kansas
Notice of Intent to Seek Private Placement Taxable General Obligation Bonds1750
Notice of Intent to Seek Private Placement General Obligation Bonds
Regulations
Kansas Lotterv

Temporary Administrative Regulations	
Index to administrative regulations	1764

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. Periodicals postage paid at Topeka, Kansas.

POSTMASTER: Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 SW 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2020. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF Format) can be found at the following link: http://www.sos.ks.gov/publications/ kansas-register.html.

Register Office: 1st Floor, Memorial Hall 785-368-8095 kansasregister@ks.gov



Published by Scott Schwab Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594 785-296-4564 www.sos.ks.gov

Cover Artwork: Bald Eagles, Wabaunsee County Photo by Todd Caywood

State of Kansas

Legislative Administrative Services

Interim Committee Schedule

The Legislative Research Department gives notice that the following legislative committees plan to meet on the dates listed below based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email legserv@las.ks.gov.

Date	Room	Time	Committee	Agenda
Dec. 20	112-N	10:00 a.m.	Legislative Budget Committee	Budget matters, performance based budgets, and recommendations
Dec. 21	112-N	9:00 a.m.	Legislative Budget Committee	Budget matters, performance based budgets, and recommendations
Jan. 5	582-N	10:30 a.m.	Joint Committee on Administrative Rules and Regulations	Proposed rules and regulations of the Kansas Department of Health and Environment
Doc. No. 04966	6			Tom Day, Director Legislative Administrative Services

State of Kansas Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

Effective 12-20-21	through 12-26-21
Torm	Rato

lerm	Kate
1-89 days	0.08%
3 months	0.02%
6 months	0.11%
12 months	0.30%
18 months	0.50%
2 years	0.67%
	Coott N

Scott Miller Director of Investments

Doc. No. 049655

State of Kansas

Department of Administration Office of Facilities and Property Management

Notice of Requested "On-Call" Architectural Services

Notice is hereby given of the commencement of the selection process for "on-call" architectural services for Kansas State University. Services are required for restricted (small) projects with a project budget of \$1,000,000 or less. Multiple firms may be selected. The contracts will be for three years. In addition to design and construction for a project, the firm may be requested to provide additional project management services for project coordination, weekly construction administration and the ability to quickly respond to critical elements uncovered during construction (preference is for firms within 30 miles of Manhattan, Kansas).

For more information, contact Rosanna Carvalho at rcarvalho@ksu.edu, phone 785-532-1732. Firms interested in providing these services should be familiar with the requirements which can be found in Part B-Chapter 4 of the Building Design and Construction Manual at the website below.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Qualifications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at http://admin.ks.gov/offices/ofpm/dcc/f-and-d. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation, and an abbreviated project name in the title of the PDF document. Proposals should be less than 5 Mb and follow the current State Building Advisory Commission guidelines which can be found in Part B – Chapter 2 of the Building Design and Construction Manual at http://www.admin.ks.gov/offices/ofpm/dcc/ bdcm. Paper copies and flash drives containing copies of the proposals are not required.

Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions, please call 785-296-0749. Proposals shall be emailed to professional. qualifications@ks.gov to the attention of Randy Riveland by 2:00 p.m. on or before January 7, 2022.

The State of Kansas, as a matter of public policy, encourages anyone doing business with the State of Kansas to take steps to discourage human trafficking. If prospective bidders/vendors/contractors have any policies or participate in any initiatives that discourage human trafficking, then the prospective bidder/vendor/contractor is encouraged to submit same as part of their bid response.

> Frank Burnam, Director Office of Facilities and Property Management

Doc. No. 049658

State of Kansas

Department of Administration Office of Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the Office of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376:

All bids are to be submitted via email only to procurement@ks.gov. For more information, please visit https://admin.ks.gov/docs/default-source/ofpm/procurement-contracts/bid-submission-via-email-12-7-2020.pdf.

01/17/2022	EVT0008331	Correctional Facility Staffing
		Analyst
01/17/2022	EVT0008340	Electrofishing Boats, Including
		Motors and Trailers

The above referenced bid documents can be downloaded at the following website:

https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ ERP/c/SCP_PUBLIC_MENU_FL.SCP_PUB_BID_CMP_ FL.GBL

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

http://admin.ks.gov/offices/procurement-and-contracts/ additional-files-for-bid-solicitations

01/11/2022	A-014057	LCF; Lansing Building X
		Renovations
01/20/2022	A-014056	WCF; E and F Dorm Renovation
01/20/2022	A-014421	HCF; Install Lighting in Industrial
		Yard

Information regarding prequalification, projects, and bid documents can be obtained at 785-296-8899 or http:// admin.ks.gov/offices/ofpm/dcc.

> Richard Beattie, Director Office of Procurement and Contracts

Doc. No. 049668

State of Kansas

Department of Health and Environment

Notice Concerning Kansas/Federal Water **Pollution Control Permits and Applications**

In accordance with Kansas Administrative Regulations 28-16-57a through 63, 28-18-1 through 17, 28-18a-1 through 31 and 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations, and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation, and reissuance of the designated permit or termination of the designated permit.

Public Notice No. KS-AG-21-379/386

Pending Permits for Confined Feeding Facilities

Name and Address of Applicant	Legal Description	Receiving Water
Henry Creek Farms, Inc. Douglas Claassen 10636 NW 110th St. Whitewater, KS 67154	SW/4 of Section 06 T24S, R04E Butler County	Walnut River Basin

Kansas Permit No. A-WABU-H001 Federal Permit No. KS0089451

The proposed action is to modify and reissue an existing State/NP-DES permit for a facility for 2,918 head (291.8 animal units) of swine weighing less than 55 pounds each, housing 3,480 head (1,392.0 animal units) of swine weighing more than 55 pounds each, and 500 head (250 animal units) of cattle weighing less than 700 pounds for a total of 1,933.8 animal units. There is no change in the permitted number of animal units from the previous permit. This permit is being modified to remove three existing swine buildings, replace a fourth building and remodel the remaining five buildings. There are no changes proposed to the existing multi-cell wastewater retention system, nor the cattle portion of the facility. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Finney County Feed	NW/4 & S/2 of	Upper Arkansas
Yard, LLC	Section 31	River Basin
Jeff George	T23S, R31W and	
4170 N. Finney	SE/4 of Section 36	

Kansas Permit No. A-UAFI-C002 Federal Permit No. KS0037583

County Feeders Rd. T23S, R32W Garden City, KS 67846 Finney County

The proposed action is to modify and reissue an existing State/NPDES permit for a facility for 50,000 head (50,000 animal units) of cattle weighing greater than 700 pounds. Proposed modifications include a 130.2 total acre expansion (122.63-acre feedlot drainage area and 7.57 acre retention structure). The new area includes open cattle lots, feed roads, sediment conveyance channels, sediment basin, and retention control structure RS 6. There is no change in the permitted number of animal units from the previous permit. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Morgan Creek Farms Kevin Morgan 612 Lark Rd. Hope, KS 67451	S/2 of Section 33 T15S, R03E Dickinson County	Smoky Hill River Basin

Kansas Permit No. A-SHDK-B020

The proposed action is to reissue an existing state permit for an existing facility for 950 head (950 animal units) of cattle more than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Nuss Feedyard J.D. Nuss 32386 NW 210 Rd. Jetmore, KS 67854	SW/4 of Section 11 T21S, R25W Hodgeman County	Upper Arkansas River Basin

Kansas Permit No. A-UAHG-B005

The proposed action is to reissue an existing state permit for an existing facility for 999 head (499.5 animal units) of cattle weighing less than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Lariat Feeders, Inc. Kenneth Winter 11431 E. US-400 Hwy. Dodge City, KS 67801	NW/4 & E/2 of Section 33 NW/4 of Section 34 T26S, R24W Ford County	Upper Arkansas River Basin

Kansas Permit No. A-UAFO-C001 Federal Permit No. KS0040584

The proposed action is to reissue an existing NPDES permit for an existing facility for 30,000 head (30,000 animal units) of cattle weighing greater than 700 pounds and 6 head (12 animal units) of horses for a total of 30,012 animal units. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Kathleen Sinn 5990 Silver Creek Rd. Manhattan, KS 66503	NW/4 of Section 14 T09S, R06E Riley County	Kansas River Basin

Kansas Permit No. A-KSRL-S004

The proposed action is to reissue an existing state permit for an existing facility for 449 head (179.6 animal units) of swine more than 55 pounds, 430 head (43 animal units) of swine 55 pounds or less, 100 head (100 animal units) of cattle more than 700 pounds and 175 head (87.5 animal units) of cattle 700 pounds or less, for a total of 410.1 animal units. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Erickson Farms Keith Erickson 1197 West Iron Rd. Prairie View, KS 67664	SW/4 of Section 11 T02S, R20W Phillips County	Solomon River Basin

Kansas Permit No. A-SOPL-B007

The proposed action is to reissue an existing state permit for an existing facility for 230 head (115 animal units) of cattle weighing 700 pounds or less. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Lee Springer – Elevator Facility 3321 CR 5800 Independence, KS 67301	SW/4 of Section 23 SE/4 of Section 22 T31S, 15E Montgomery County	Verdigris River Basin

Kansas Permit No. A-VEMG-H002 Federal Permit No. KS0087114

The proposed action is to approve an update to the Nutrient Management Plan (NMP) received for this existing facility currently permitted for 5,700 head (2,280 animal units) of swine weighing more than 55 pounds and 3,000 head (300 animal units) of swine weighing 55 pounds or less for a total of 2,580 animal units The facility's NMP was updated to include the addition of a new land application field. There are no changes to the permit or in the permitted number of animal units. Only the updated portion of the Nutrient Management Plan is subject to comment. This facility has an approved Nutrient Management Plan on file with KDHE.

Public Notice No. KS-AG-R-21-029/031

Per Kansas Statutes Annotated 65-171d, the following registrations have been received for a proposed facility:

Name and Address of Registrant	Legal Description	County
Kenton Siebert 2401 K-25 Colby, KS 67701	SW/4 of Section 06 T07S, R33W	Thomas
Name and Address of Registrant	Legal Description	County
Leon Huser 2758 Antonio Rd. Victoria, KS 67671	E/2 of Section 04 T15S, R16W	Ellis
Name and Address of Registrant	Legal Description	County
Tanner and Deidra Jessup 315 S. Main Gas, KS 66742	NE/4 of Section 32 T24S, R19E	Allen

Public Notice No. KS-EG-21-011

In accordance with K.A.R. 28-46-7 and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, draft permits have been prepared for the use of the well(s) described below within the State of Kansas.

Name and Address of Applicant

Underground Cavern Stabilization, LLC PO Box 225 Great Bend, KS 67530 Operator: Advantek Cavern Solutions, LLC 1100 Richmond Ave., Suite 190 Houston, TX 77042 Permit No. KS-05-155-002 Facility Location: 7513 S. K-14 Hwy., Hutchinson, KS 67501 Legal Description: NE¹/₄, S14, T24S, R6W, Reno County, Kansas Well Number Location Latitude: 37.96603" AM#5 Longitude: -97.94781"

The proposed action is to issue a new Class V Injection Well permit for the owner/operator listed above. The facility currently emplaces non-hazardous chloride impacted materials, under a separate UIC Class V permit, to enhance the overall stabilization of the existing salt cavern well field, which helps minimize potential subsidence. These caverns also provide a suitable place for disposal of biosolids and semi biosolids from animal manures, agricultural residuals and plant wastes, and other organic sources into the open-hole void space within an existing plugged and abandoned cavern well located on the property. Cavern AM#5 will be opened, and upon confirmation of suitable conditions, utilized for the emplacement of organic material as described in this permit. No other materials will be allowed without prior approval from KDHE. Emplacement is made into Cavern AM#5 solution mined in the Hutchinson Salt member of the Wellington Formation from approximately 561 to 781 feet below the ground surface. Emplacement pressure into the cavern will not exceed 80 psig at the well head. The maximum rate of injection will be 12,000 barrels per day. The Hutchinson Salt interval consists mostly of salt with shale interbeds and is encountered at a depth of approximately 455 feet below the ground surface. There are no Hutchinson Salt Formation waters and the disposal zone is below the USDW. All construction, monitoring, and operation of these wells shall meet the requirements that apply to Class V Injection wells under the Kansas UIC Regulations, K.A.R. 28-46-1 through 28-46-44 and other requirements of KDHE.

(continued)

Persons wishing to comment on or object to the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment (KDHE) if they wish to have the comments or objections considered in the decision-making process. All written comments regarding the draft documents, application or registration notices received on or before January 22, 2022, will be considered in the formulation of the final determination regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-21-379/386, KS-AG-R-21-029/031, KS-EG-21-011) and name of the applicant/permittee when preparing comments.

All comments received will be responded to at the time the Secretary of Health and Environment issues a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC). A request for public hearing must be submitted in writing and shall state the nature of the issues proposed to be raised during the hearing.

Comments or objections for agricultural related draft documents, permit applications, registrations or actions should be submitted to the attention of Paige Drury, Livestock Waste Management Section at the KDHE, Bureau of Environmental Field Services (BEFS), 1000 SW Jackson, Suite 430, Topeka, KS 66612. Comments or objections for all other proposed permits or actions should be sent to Michael Beezhold at the KDHE, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612.

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the KDHE. For agricultural related draft documents or applications an appointment can be scheduled, or copies requested by contacting the Livestock Waste Management Section at 1000 SW Jackson St., Suite 430, Topeka, KS 66612, telephone 785-296-6432 or email at kdhe.feedlots@ks.gov. For all other proposed permits or actions an appointment can be scheduled, or copies requested by contacting Christopher Zwiener, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612, telephone 785-296-3056 or email at Christopher.Zwiener@ks.gov. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available at http://www.kdheks.gov/feedlots. Division of Environment offices are open from 8:00 a.m. to 5:00 p.m., Monday through Friday, excluding holidays.

> Janet Stanek Acting Secretary

Doc. No. 049664

State of Kansas

Department of Health and Environment

Notice of Hearing

The Kansas Department of Health and Environment has prepared a draft Underground Injection Control Permit KS-05-155-002 for Advantek Cavern Solutions, LLC (ACS) in Hutchinson, Kansas.

The proposed action is to issue a five-year pilot permit for the emplacement of biosolids and other approved organics in a new well at the existing facility. The organic material will be mixed with saturated brine and injected through the inner tubing string into the open cavern space, brine from within the cavern will then be displaced and circulated to the surface between the inner tubing and casing. The displaced brine will be contained in above ground tanks for future use or injected into the Arbuckle Formation under the facility's UIC Class I permit. The facility is in Section 14, Township 24 South, Range 6 West in Reno County, Kansas. A notice in the Kansas Register dated December 23, 2021, informed the public of the availability of the proposed Underground Injection Control permit for Advantek Cavern Solutions, LLC.

Copies of the permit application, the proposed KDHE permit, and other pertinent documents may be viewed in person at the Topeka Central office by scheduling an appointment, or copies requested by writing to Deb Biester, Kansas Department of Health and Environment, BOW-Geology and Well Technology, 1000 SW Jackson St., Suite 420, Topeka, KS 66612; or via telephone at 785-296-5524; or email at debra.biester@ks.gov. Appropriate copying charges will be assessed for each request.

A person may request a virtual public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Carrie Ridley, Unit Chief, Geology and Well Technology, KDHE BOW, 1000 SW Jackson, Suite 420, Topeka, KS 66612-1367, or email carrie.ridley@ks.gov and received no later than 5:00 p.m. January 24, 2022, in order for the Secretary of Health and Environment to consider the request. If no written requests are received, a public hearing will not be held. Registration for the tentative hearing does not constitute a request.

In the event a written request for a public hearing is received during the public comment period, a public hearing has been scheduled in conformance with Kansas Administrative Regulation 28-16-61 and 28-46-21.

A tentative public hearing on the draft permit has been scheduled for:

Date: January 26, 2022 Time: 5:00 p.m. (CST) Location: Virtual (details below)

Due to concerns regarding COVID-19, the public hearing, if requested, will be held online via Zoom. Documents and content related to the permit application, along with instructions and a link to register to attend the online public hearing is available at the Kansas Department of Health and Environment – BOW Draft Permits webpage at https://www.kdheks.gov/water/permit/index.htm. Persons wishing to attend the online hearing must register at least 12 hours before the start of the hearing.

The purpose of a public hearing is to inform the public, stakeholders, and regulated community about the proposed Underground Injection Control Permit. If requested, the hearing will consist of outlining the proposed facility and proposed permit, then the hearing will be open for public comment. Those attending virtually will comments on the proposed permit if they wish. Those attending via Zoom or by phone at the number provided in your registration receipt will also be provided an opportunity to speak and provide comment on the proposed permit if they wish.

Any individual with a disability may request accommodation in order to participate in the public hearing process and may request the provided documents in an accessible format. Requests for accommodation to participate in the hearing process should be made at least five working days in advance of the hearing by contacting KDHE. Requests can be made to Deb Biester, Kansas Department of Health and Environment, Geology and Well Technology, 1000 SW Jackson St., Suite 420, Topeka, KS 66612; or via telephone at 785-296-5524; or email at debra. biester@ks.gov. Appropriate copying charges will be assessed for each request.

A request for a hearing, questions or written comments should be directed to Carrie Ridley, PG., Kansas Department of Health and Environment, Geology and Well Technology, 1000 SW Jackson St., Suite 420, Topeka, KS 66612; by email at carrie.ridley@ks.gov; or via telephone at 785-296-6650

Individuals are also encouraged to participate during the public comment period by submitting written comments by email, postal mail, or fax to the addresses specified on this notice before the close of the public comment period that will conclude February 6, 2022.

> Janet Stanek Acting Secretary

Doc. No. 049665

State of Kansas

Department of Transportation

Notice to Contractors

Electronic copies of the letting proposals and plans are available on the Kansas Department of Transportation (KDOT) website at https://kdotapp.ksdot.org/Proposal/ Proposal.aspx. The website will allow the contractor to request approval from KDOT to bid as a prime contractor and be included on the "Bid Holders List," or to be included on the "Non-Bid Holders List" as a subcontractor/ supplier. KDOT's approval is required to bid as a prime contractor. To bid as a prime contractor, KDOT needs to be notified of the intent to bid no later than the close of business on the Monday preceding the scheduled letting date. Failure to obtain prior approval to bid as a prime contractor on any projects listed below will be reason to reject your bid. The Secretary reserves the right to reject bids that do not comply with all requirements for preparing a bidding proposal as specified in the 2015 edition of the Kansas Department of Transportation Standard Specifications for State Road and Bridge Construction.

KDOT will only accept electronic internet proposals using the Bid Express website at http://www.bidx.com until 1:00 p.m. (CST) January 19, 2022. The KDOT bid letting will be conducted remotely by audio broadcast ONLY at 3:00 p.m. (CST) Wednesday, January 19, 2022. To join the conference call, dial 866-620-7326 and enter conference code 5895748207. KDOT has tested the process, but in the event of an unforeseen issue, KDOT will provide updates.

Each bidder shall certify that such person, firm, association, or corporation has not, either directly or indirectly, entered into any agreement, participated in any collusion, or otherwise taken any action in restraint of free competitive bidding in connection with the submitted bid. This certification shall be in the form of a required contract provision provided by the state to each prospective bidder. Failure to complete the required contract provision and certify the completeness of the preceding statement when electronically signing the proposal will make the bid nonresponsive and not eligible for award consideration.

District One – Northeast

Brown – 36-7 KA-6391-01 – US-36, from the Brown/ Nemaha County line east to 1.7 miles west of the west city limits of Hiawatha, recycle and overlay, 12.0 miles. (State Funds)

Jackson – 43 C-5078-01 – Bridge over Straight Creek, located 2.0 miles east and 5.8 miles north of Holton, bridge replacement, 0.1 mile. (Federal Funds)

Jefferson – 192-44 KA-6235-01 – K-192, from the K-192/ US-59 junction east to the Jefferson/Leavenworth County line, milling and overlay, 7.7 miles. (Federal Funds)

Jefferson – 4-44 KA-6315-01 – K-4, from the K-92/K-4 junction north to the US-59/K-4 junction, milling and overlay, 18.3 miles. (Federal Funds)

Jefferson – 59-44 KA-6338-01 – US-59, from the K-4/ US-59 junction to the Jefferson/Atchison County line, milling and overlay, 0.5 mile. (State Funds)

Johnson – 35-46 KA-6502-01 – I-35, pavement marking, 11.3 miles. (Federal Funds)

Leavenworth – 192-52 KA-6238-01 – K-192, from the Jefferson/Leavenworth County line east to the US-73/K-192 junction, milling and overlay, 8.5 miles. (Federal Funds)

Lyon – 99-56 KA-6392-01 – K-99, from the Lyon/Greenwood County line to the south city limits of Emporia, sealing, 15.6 miles. (State Funds)

Lyon – 50-56 KA-6398-01 – US-50, from the Chase/ Lyon County line east to the Road E5/US-50 intersection, overlay, 4.0 miles. (Federal Funds)

Lyon – 35-56 KA-6401-01 – I-35, from the I-35/US-50 junction north and east to the Lyon/Coffey County line, overlay, 15.7 miles. (Federal Funds)

Lyon – 50-56 KA-6422-01 – US-50, from the east city limits of Emporia to the east US-50/I-35 junction, milling and overlay, 0.6 mile. (State Funds)

Osage – 75-70 KA-6394-01 – US-75, from the Coffey/ Osage County line north to the S. Jordan Road/US-75 intersection, recycle and overlay, 7.0 miles. (State Funds)

Osage – 75-70 KA-6395-01 – US-75, from the K-68/US-75 junction north to the K-268/ K-31/US-75 junction, milling and overlay, 3.0 miles. (State Funds)

Osage – 75-70 KA-6396-01 – US-75, from the K-268/K-31/ US-75 junction north to the US-75 2-lane/4-lane transition, sealing, 9.5 miles. (State Funds)

Shawnee – 89 TE-0494-01 – 10th Street, along the north side from S.W. Wanamaker Road east to S.W. Robinson (continued) Avenue, pedestrian and bicycle paths, 0.1 mile. (Federal Funds)

Statewide – 106 KA-6096-01 – US-24, K-113, US-77, K-82, K-18, K-114 and K-177 in Riley, Geary, Clay, Marshall, Pottawatomie, and Wabaunsee counties, signing. (Federal Funds)

District Two – North Central

McPherson – 56-59 KA-5416-01 – US-56/K-153 intersection, intersection improvement, 0.8 mile. (Federal Funds)

Ottawa – 41-72 KA-6131-01 – K-41, bridge #025 over Dry Creek located 2.65 miles west of the K-41/US-81 junction, bridge repair. (Federal Funds)

Washington – 15-101 KA-3959-01 – K-15, bridge #023 over Ash Creek located 4.8 miles north of K-9, bridge replacement. (Federal Funds)

District Three – Northwest

Gove – 40-32 KA-6501-01 – US-40, pavement marking, 0.2 mile. (Federal Funds)

Logan – 40-55 KA-3915-01 – US-40, bridge #008 over North Branch of Hackberry Creek located 4.9 miles northeast of the east K-25 junction, bridge replacement. (Federal Funds)

Logan – 55 KA-6500-01 – US-40 and US-83, pavement marking, 3.2 miles. (Federal Funds)

Trego – 70-98 KA-5688-01 – I-70, bridges #017 and #018 over K-147 highway located at the K-147/I-70 junction, bridge repair. (Federal Funds)

District Four – Southeast

Allen – 54-1 KA-6408-01 – US-54, from the Woodson/ Allen County line east to the west city limits of Iola, milling and overlay, 5.8 miles. (Federal Funds)

Chautauqua – 99-10 KA-6317-01 – K-99, from the US-166B/K-99 junction north to the Chautauqua/Elk County line, milling and overlay, 13.5 miles. (Federal Funds)

Coffey – 35-16 KA-6402-01 – I-35, from the Lyon/Coffey County line east to approximately 0.69 mile east of the south I-35/US-75 junction, milling and overlay, 11.6 miles. (Federal Funds)

Elk – 99-25 KA-6340-01 – K-99, from the Elk/Chautauqua County line north to the west K-99/US-160 junction, milling and overlay, 4.8 miles. (State Funds)

Labette – 59-50 KA-6319-01 – U. S. 59, from the Kansas/ Oklahoma state line north to the north city limits of Oswego, milling and overlay, 13.3 miles. (Federal Funds)

Miami – 169-61 KA-6241-01 – US-169, from 3.9 miles south of the K-68/US-169 junction (Baptiste Drive) to 1.4 miles south of the Miami/Johnson County line (northbound lane only), overlay, 10.7 miles. (Federal Funds)

Montgomery – 166-63 KA-6411-01 – US-166, from the east city limits of Coffeyville east to the east US-166/US-169 junction, milling and overlay, 0.6 mile. (State Funds)

Montgomery – 169-63 KA-6412-01 – US-169, from the east city limits of Coffeyville to the south edge of wearing surface of Bridge #098 (Potato Creek), milling and overlay, 4.2 miles. (Federal Funds)

Woodson – 54-104 KA-6407-01 – US-54, from the east city limits of Yates Center east to the Woodson/Allen County line, milling and overlay, 11.8 miles. (Federal Funds)

Statewide – 106 KA-6358-01 – K-58, in Greenwood County from the K-99/K-58 junction east to the Greenwood/Coffey County line, from the Greenwood/Coffey County line east to the north K-58/US-75 junction and in Coffey County from the south K-58/US-75 junction east to the west city limits of Leroy; K-249, in Greenwood County from the K-99/K-249 junction north to the K-58/K-249 junction, recycle and overlay, 31.9 miles. (State Funds)

District Five – South Central

Barber – 42-4 KA-6331-01 – K-42, from the Pratt/Barber County line east to the Barber/Kingman County line, recycle and overlay, 4.9 miles. (State Funds)

Butler – 254-8 KA-5556-01 – K-254, located 6.25 miles east of the Sedgwick/Butler County line at the K-254/Adams Road intersection, intersection improvement. (State Funds)

Kingman – 42-48 KA-6332-01 – K-42, from the Barber/ Kingman County line east to the K-14/K-42 junction, recycle and overlay, 23.7 miles. (Federal Funds)

Pratt – 42-76 KA-6330-01 – K-42, from the ÚS-281/K-42 junction east to the Pratt/Barber County line, recycle and overlay, 9.0 miles. (Federal Funds)

Rice – 14-80 KA-3893-01 – K-14, bridge #032 over Cow Creek Drainage located 9.7 miles north of the Reno County line, bridge replacement. (Federal Funds)

Sedgwick – 254-87 KA-5554-01 – K-254 at N. Rock Road in Kechi, intersection improvement. (State Funds)

Sedgwick – 54-87 KA-6088-01 – US-54, bridge #113 (westbound over K-251) located at the K-251/US-54 junction, bridge deck. (Federal Funds)

Sumner – 166-96 KA-6430-01 – U.S.166, from the U.S.166/ US-81 junction east approximately 9.07 miles to the transition from concrete to asphalt pavement just east of S. Rock Road, overlay and shoulder, 9.1 miles. (Federal Funds)

> Julie Lorenz Secretary

Doc. No. 049637

State of Kansas

Department of Transportation

Request for Comments

The Kansas Department of Transportation (KDOT) requests comments on the amendment of the Statewide Transportation Improvement Program (STIP) FY 22-25. The comprehensive list of project(s) being amended to the STIP may be viewed online at http://www.ksdot.org/ bureaus/burProgProjMgmt/stip/stip.asp. The project list includes projects for counties, cities, and projects on the state highway system. In addition to this list of projects is Administrative Narrative Modification #3 for updates that have occurred in the Metropolitan Transportation Improvement Programs, Federal Lands and Tribal Transportation Programs, and Recreational Trails narrative sections of the STIP.

The amendment of the STIP requires a public comment period of 14 days. To make comment on this STIP amendment, contact KDOT's Division of Program and Project Management, 2nd Floor Tower, 700 SW Harrison, Topeka, KS 66603-3754; phone 785-296-3254. This information is available in alternative accessible formats. To obtain an alternative format, contact the KDOT Office of Public Affairs at 785-296-3585 (Voice/ Hearing Impaired–711).

The comment period regarding the STIP amendment for these projects will conclude January 5, 2022.

Julie Lorenz Secretary

Doc. No. 049656

(Published in the Kansas Register December 23, 2021.)

Watco Kansas & Oklahoma Railroad

Request for Proposals

Interested parties are invited to submit a proposal to build subgrade and install track at the Bartlett facility in Great Bend, Kansas.

Scope of Work

Project is in Great Bend, Kansas on proposed track expansion at the existing Bartlett Site. This proposal requests the contractor provide all necessary labor, equipment, and logistical services for installation of a rail spur including grading, subballast, drainage, erosion control, complete all rehab and track construction work, ties, ballast, etc. The scope is further described as follows:

- Grading site including clearing, stripping, excavation, embankment, subballast installation (owner supplied material) and earthen bumpers. 12,797.64 Tons of subballast to be installed per KSDOT specifications.
- Obtain, manage and closeout SWPPP for project including install of erosion control measures – silt fence and check dams per plan. Drainage to be maintained at all times during construction activities.
- Construction surveying to include final as-built survey.
- Install only pricing for approximately 10,596 Track Feet of 115# jointed relay rail on new 7x9x8.6' wood crossties.
- Install only pricing for 8 each owner supplied ARE-MA industrial Turn Out to be built using 115# rail, Sampson Points, Solid Manganese Self-Guarded Frog, Wood Ties, and OTM – plates, spikes, anchors, bolt/washer/nut assemblies.
- (2) 36" Culverts, contractor supplied, to be extended 10 LF Each. Flared end sections to be removed and reinstalled. Contractor to take care in handling so as not to damage the existing pipe or flared end sections. Any damage to pipe or flared end section is to be repaired by contractor at their expense. Existing drainage conditions to be maintained during installation. All pipe installations must be bedded based on plan specifications.
- (1) 24" CMP and (1) 18" CMP, contractor supplied, to be installed per plan. All pipe installations must be bedded based on plan specifications.
- Install owner provided 10,403 tons of ballast, tamping, and regulating.
- Any pre-existing rail, ties, or OTM that is removed

when installing switch components, must be removed and disposed of according to all local, state, and federal regulations.

• Additional details concerning the scope of work needing to be done with each portion of the project, will be addressed at the pre-bid meeting.

Minimum Requirements

MSA and Roadway Worker Protection

Contractors must complete, and have on file, a current Master Services Agreement with Watco Prior to submitting a proposal.

- Contractors shall comply with all parts of 49 CFR Part 214 and 219 regarding FRA Roadway Worker Safety at all times. Men and equipment shall remain clear of the track unless they have gained Roadway Worker Protection from a qualified person.
- Contractor, contractor employees, agents and/or subcontractors must be enrolled and comply with the FRA 219 approved drug testing program.
- Any subcontracted work will need to be approved prior to any work starting.

Work Windows

Impact to current railroad and site operations must be kept to a minimum. When work must take place that causes an active track to be taken out of service for the purposes of performing work that pertains to the project, the Contractor must pre-arrange a defined work window with Watco/Kansas & Oklahoma Railroad. Contractor can anticipate a minimum work window of eight hours with no more than one schedule of interruption in that time frame. Between the hours of 07:00 and 17:00. This topic will be further discussed and clarified during the pre-proposal meeting.

Standards

All standards referenced by the project plans and specifications, as well as all applicable AREMA standards must be upheld during all phases of the project work, unless certain standards are excluded from the project with written approval. All rail shall be replaced at standard gauge of 56-1/2."

Submittals

The following documents shall be submitted by the Contractor as part of the project, at the times listed:

- Schedule of Work Submitted with proposal
- Certificate of Insurance Submitted prior to construction
- Safety Plan Submitted prior to construction
- Proof of Roadway Worker Training Submitted prior to construction
- Rail Testing (If AREMA #1 Relay Rail is used) Submitted prior to construction
- Rail Weld UT Test Requirements (all rail comp welds) Submitted with billing

Other Responsibilities:

- Permits Contractor is responsible for all federal, state and local permits required for the work
- Utilities Contractor is responsible to locate and protect site utilities

• Site Clean-up – Contractor is responsible for proper site restoration and proper disposal of materials removed in accordance with all local, state, and federal laws

Insurance

Contractor shall purchase required coverage and submit for verification a Certificate of Insurance.

Materials

All non-owner supplied materials shall meet the requirements found in the project plans and/or specifications as well as applicable AREMA requirements. Material storage is granted on railroad right of way to the contractor. However, no materials shall be stored closer than 25' from the centerline of any active track, at any time. Material and equipment laydown areas and reclaimed materials stockpiling locations shall be discussed and further clarified at the pre-proposal meeting. All removed materials remain property of the Kansas & Oklahoma Railroad, to be stockpiled as directed by a representative.

Non-Project Areas

Watco has secured access to the project through Bartlett property right of way. Other access may be obtained by the contractor if they so choose. All areas (public, private, and railroad right of way) that are used for access to the project, including parts of the railroad right of way which have no proposed work, shall be maintained and/ or remediated, incidental to the project, by the contractor to the satisfaction of the property owner if any damage to these areas occurs.

Pre-Proposal Meeting

Watco shall hold a pre-proposal meeting at the project site as indicated by the project manager. The meeting shall be held at the Bartlett property in Great Bend, Kansas at 10:00 a.m. (CST) January 12, 2022. Contractors are required to be present at this meeting to submit a proposal or their proposal can be rejected.

Project Completion

In service date for this project is expected to be June 1, 2022. Contractor is to build schedule to meet this date and include track tie-in outages during the time period of April 1 to May 1. All work pertaining to this project shall be completed as indicated on the contractor supplied schedule. Failure to complete work by the scheduled date may result in the contractor's removal from the property or charges of \$1500/day until completed to satisfaction.

Submission of a Proposal

All proposals must be submitted no later than January 25, 2022. All submitted proposals shall be reviewed by Watco Purchasing Department. Please ensure your proposal includes all required information. All incomplete proposals shall be rejected. Contractors who wish to submit a proposal must attend the pre-proposal meeting. Proposals will be submitted to Amie Proudfit at amie. proudfit@watco.com. The structure of your proposal must be able to be clearly understood, all proposals shall provide the following line items and provide costs as required below:

- Provide a total sum of all line items on the proposal
 - 1. Mobilization and Demobilization lump sum
 - 2. Clearing and Grubbing 5.64 acres
 - 3. Excavation 11,103 CY (in place measure)
 - 4. Embankment 353 CY (in place measure)
 - 5. Erosion Control Silt Fence 5374 linear feet
 - 6. Erosion Control Ditch Checks 22 each
 - 7. Culvert Installations and Extensions as specified in plans
 - 8. Flared End Sections 2 each
 - 9. Track Removal 457 TF
 - 10. Contractor Surveying lump sum
 - 11. Earthen Bumpers 6 each
 - 12.SWPPP lump sum
 - 13. Subballast Install Owner Supplied 12,798 tons
 - 14. Install approximately 10,596 track feet of new rail built with 115# RE rail on wood cross ties as shown in plans
 - 15. Distribute approximately 10,403 tons ballast
 - 16. Tamp and regulate
 - 17. Install 8 Each #10 Turn Out (AREMA Industrial 115# RE rail, Rail Self-Guarded Manganese Frog, Hardwood Switch Ties and HSS Switch Stand)
 - 18. Clean up work site to completion

Work Reporting

Contractors will be required to complete Bartlett Contractor Safety Handbook and Bartlett Entry Forms. Daily work reports must be filled out and submitted to Paul Leonards, Watco VP Construction at pleonards@watco. com, phone 601-506-1800; and Bryan Waldon, Senior Project Manager for Watco. Weekly Reports should include updates to project schedules, any delays or any change in the scope of work. A detailed summary report must be submitted at the completion of the project. Daily Reporting shall consist of daily progress reports in format to be provided at award.

> Drew White Director of Engineering Watco

Doc. No. 049659

(Published in the Kansas Register December 23, 2021.)

South Kansas and Oklahoma Railroad

Request for Proposals

Interested parties are invited to submit a proposal for providing right of way (ROW) tree and brush cutting/ clearing for the proposed South Kansas and Oklahoma (SKOL) Railroad project.

Scope of Work

Tree and brush cutting/clearing, crossing clearing on SKOL Railroads various subdivisions:

- Approximately 105 days of tree, brush and crossing clearing on the Tulsa, Moline, and Neodesha subdivisions
- Provide all necessary labor and adequate mechanical equipment to complete all tree and brush cutting/clearing along the SKOL Railroads ROW
- Provide all brush and tree cutting at specified road crossings along the SKOL Railroads ROW

1747

- Cutting is to be done in a safe manner; operators are to take precaution when cutting/clearing near pedestrians, towns, houses, schools, churches, and road crossings
- Additional details to be provided to contractors by the Railroad:
 - Areas to cut back on each subdivision
 - Specific crossing sites to be cut back/clear

Minimum Requirements

MSA and Roadway Worker Protection

- Contractors must complete, and have on file, a current Master Services Agreement with the SKOL Railroad, prior to beginning work.
- Contractors shall always comply with all parts of 49 CFR Part 214 and 219 regarding FRA Roadway Worker Safety. Men and equipment shall remain clear of the track unless they have gained Roadway Worker Protection from a qualified person.
- Contractor, contractor employees, agents and/or subcontractors must be enrolled and comply with the FRA 219 approved drug testing program.
- Any subcontracted work will need to be approved by the SKOL Railroad prior to any work starting.
- As of January 1, 2021, All Contractors will be required to complete WATCO Contractor Orientation. https://watcocontractor.com/. Any contractor who was previously enrolled in e-SHORTLINE with Watco in the past, will be required to complete the WATCO Contractor Orientation (See above.)

Work Windows

Impact to current railroad operations must be kept to a minimum. When work must take place that causes an active track to be taken out of service for the purposes of performing work that pertains to the project, the contractor must pre-arrange a defined work window with the railroad. It is the railroads intentions to provide a minimum work window of ten hours with no more than one schedule of interruption in that time frame, between the hours of 07:00 and 17:00. For work windows extending more than ten hours, a minimum of 72 hours of notification is required to the railroad to arrange this window. Work windows may be arranged seven days a week, if desired.

Submittals

The following documents shall be submitted by the contractor as part of the project at the times listed:

- Schedule of Work submitted with proposal (SKOL will coordinate with contractor, prior to work beginning)
- Certificate of Insurance submitted prior to construction
- Proof of Roadway Worker Training submitted prior to construction
- All contractors must recognize that this project contains federal funding and must comply with federal requirements such as the Davis-Bacon Act, "Buy America," and the Disadvantaged Business Enterprise (DBE), where applicable

Other Responsibilities

• Permits – contractor is responsible for all federal,

state, and local permits required for the work. To include any road closures or traffic control.

- Utilities contractor is responsible to locate and protect site utilities.
- Site Clean-up contractor is responsible for proper site restoration and proper disposal of materials removed in accordance with all local, state and federal laws.

Insurance

Contractor shall purchase required coverage and submit for verification a Certificate of Insurance.

Submission of a Proposal

All proposals must be submitted to Cameron Ginther at cameron.ginther@watco.com no later than 3:00 p.m. (CST) Friday, January 14, 2022. All submitted proposals shall be reviewed by the SKOL Railroad and KDOT. Please ensure your proposal includes all required information. All late or incomplete proposals shall be rejected. The SKOL requests that the contractor provides a combined daily rate for operator and equipment when submitting a proposal. For further information or questions regarding the request for proposals can be directed to Cameron Ginther, Project Manager at 785-513-6049 or cameron.ginther@watco.com.

Work Reporting

Detailed daily work reports (SKOL will provide format) must be filled out and submitted to Mike Mulnix– SKOL Roadmaster, Jerod Gofourth–SKOL Assistant Roadmaster and Cameron Ginther–Project Manager. Reports should include updates on cutting progress, any delays or any changes in the contractor's cutting schedule.

> Cameron Ginther Watco

Doc. No. 049652

(Published in the Kansas Register December 23, 2021.)

South Kansas and Oklahoma Railroad

Request for Proposals

Interested parties are invited to submit a proposal for providing materials for the proposed South Kansas and Oklahoma (SKOL) Railroad project.

Scope of Work

Call for bids for materials for the Frank Phillips Boulevard Crossing – Bartlesville, OK:

• Provide all materials called for to complete all track construction work. A comprehensive list of materials and associated quantities will be provided to supplier upon request.

Additional details concerning the scope of work associated with each portion of the project will be addressed in the pre-proposal meeting.

Submittals

The following documents shall be submitted by the Contractor as part of the project at the times listed:

• Schedule of Material Delivery – submitted with proposal

(continued)

Materials

All materials shall meet the requirements found in the project plans and/or specifications as well as applicable AREMA requirements. Material storage is granted on railroad right of way to the contractor. However, no materials shall be stored closer than 15' from the centerline of any active track at any time. Material and equipment laydown areas and reclaimed materials stockpiling locations shall be discussed and further clarified at the pre-proposal meeting. All removed materials remain property of the SKOL Railroad, to be stockpiled as directed by a railroad representative.

Non-Project Areas

The SKOL Railroad has secured access to the project through the railroad right of way. Other access may be obtained by the contractor if he/she so chooses. All areas (public, private, and railroad right of way) that are used for access to the project, including parts of the railroad right of way which have no proposed work, shall be maintained and/or remediated, incidental to the project, by the contractor to the satisfaction of the property owner if any damage to these areas occurs.

Submission of a Proposal

All proposals must be submitted to Cameron Ginther at cameron.ginther@watco.com no later than 3:00 p.m. Friday, January 14, 2022. All submitted proposals shall be reviewed by the SKOL Railroad and the State of Kansas. Please ensure your proposal includes all required information. All late or incomplete proposals shall be rejected. The structure of your proposal must be able to be clearly understood, all proposals shall provide the following line items and provide costs as required below:

- For specifications, federal requirements and additional information, go to https://www.watco.com/ skol-2021-crisi-project/
- If you have technical issues and are unable to access the link, please reach out to Cameron Ginther at cameron.ginther@watco.com

For further information or questions regarding the request for proposals or submittal of a proposal, please contact: Alicia Stimpson, Purchasing Manager – Projects at 208-421-3476 or astimpson@watco.com; or Cameron Ginther, Project Manager at 785-513-6049 or cameron. ginther@watco.com.

Cameron Ginther Watco

Doc. No. 049653

(Published in the Kansas Register December 23, 2021.)

South Kansas and Oklahoma Railroad

Request for Proposals

Interested parties are invited to submit a proposal to remove and install new ties and rehabilitate a crossing for the proposed South Kansas and Oklahoma (SKOL) Railroad project.

Scope of Work

Tie Replacement (MP 353.00 – 355.20 Cornell Car Shop Lead), and crossing rehabilitation between Pittsburg, Kansas and Cornell Mechanical Shop. Provide all necessary labor, equipment, and logistical services to supply/ install all materials called for to complete this project.

- Remove and install 1,211 new, 7x9x8.6" (Grade 80/20) ties
- Remove and install all needed OTM plates, spikes, and anchors
- Remove and install new crossing material for 33' crossing per Watco specifications
- Road closure is required prior to work beginning
- All OTM/materials removed from this portion of this project shall be disposed of in accordance with all local, state, and federal regulations
- In accordance with AREMA standards, ballast shoulders are to be dressed at the end of each workday to prevent thermal deviation in track due to disturbed roadbed
- Additional details concerning the scope of work associated with the project will be addressed in the pre-proposal meeting

Minimum Requirements

MSA and Roadway Worker Protection

Contractors must complete, and have on file, a current Master Services Agreement with SKOL Railroad prior to any work being completed. Prior to submitting a proposal:

- Contractors shall comply with all parts of 49 CFR Part 214 and 219 regarding FRA Roadway Worker Safety at all times. Men and equipment shall remain clear of the track unless they have gained Roadway Worker Protection from a qualified person.
- Contractor, contractor employees, agents and/or subcontractors must be enrolled and comply with the FRA 219 approved drug testing program.
- Any subcontracted work will need to be approved by the SKOL Railroad prior to any work starting.
- As of January 1, 2021, all contractors will be required to complete WATCO Contractor Orientation at https://watcocontractor.com/. Any contractor who was previously enrolled in e-SHORTLINE with Watco in the past, will be required to complete the WATCO Contractor Orientation.

Work Windows

Impact to current railroad/mechanical shop operations must be kept to a minimum. When work must take place that causes an active track to be taken out of service for the purposes of performing work that pertains to the project, the contractor must pre-arrange a defined work window with the railroad. Contractor can anticipate a minimum work window of ten hours with no more than one schedule of interruption in that time frame between the hours of 07:00 and 17:00. For work windows extending more than ten hours, a minimum of 72 hours of notification is required to the railroad to arrange this window. Work windows may be arranged seven days a week, if desired. Current plant operations consist of at least one train per week through the work area. This train operates in the evening hours; however, this schedule is subject to change at any time. This topic will be further discussed during the pre-proposal meeting.

Standards

All standards referenced by the project plans and specifications, as well as all applicable AREMA standards must be upheld during all phases of the project work, unless certain standards are excluded from the project with written approval by the SKOL Railroad.

Submittals

The following documents shall be submitted by the contractor as part of the project, at the times listed:

- Schedule of Work Submitted with proposal
- Certificate of Insurance Submitted prior to construction
- Safety Plan Submitted prior to construction
- Proof of Roadway Worker Training Submitted prior to construction

Other Responsibilities

- Permits Contractor is responsible for all federal, state, and local permits required for the work
- Utilities Contractor is responsible to locate and protect site utilities
- Site Clean-up Contractor is responsible for proper site restoration and proper disposal of materials removed in accordance with all local, state, and federal laws

Insurance

Contractor shall purchase required coverage and submit for verification a Certificate of Insurance.

<u>Materials</u>

All materials shall meet the requirements found in the project plans and/or specifications as well as applicable AREMA requirements. Material storage is granted on railroad right of way to the contractor. However, no materials shall be stored closer than 15' from the centerline of any active track, at any time. Material and equipment laydown areas and reclaimed materials stockpiling locations shall be discussed and further clarified at the pre-proposal meeting. All removed materials remain property of the SKOL Railroad, to be stockpiled as directed by a railroad representative.

Non-Project Areas

The SKOL Railroad has secured access to the project through the railroad right of way. Other access may be obtained by the contractor if he so chooses. All areas (public, private, and railroad right of way) that are used for access to the project, including parts of the railroad right of way which have no proposed work, shall be maintained and/or remediated, incidental to the project, by the contractor to the satisfaction of the property owner if any damage to these areas occurs.

Pre-Proposal Meeting

The SKOL Railroad shall hold a pre-proposal meeting at 10:00 a.m. (CST) Thursday, January 13, 2022, at the Watco Mechanical Shop (Cornell) five miles NE of Pittsburg, Kansas. Please contact Cameron Ginther for additional details.

Project Completion

It is expected the contractor must start work no later than 30 days after being awarded the bid and complete the project within 90 days of being awarded the bid. Prior to the completion of the project, there will be a final inspection. If there are any issues with the quality of work, the contractor will be responsible for fixing any issues found.

Submission of a Proposal

All proposals must be submitted no later than 4:00 p.m. (CST) Thursday, January 27, 2022, to Cameron Ginther at cameron.ginther@watco.com. All submitted proposals shall be reviewed by the SKOL Railroad. Please ensure your proposal includes all required information. All late or incomplete proposals shall be rejected. Further information or questions regarding the request for proposals can be directed to Cameron Ginter at 785-513-6049 or cameron.ginther@watco.com. The structure of your proposal must be able to be clearly understood, all proposals shall provide the following line items and provide costs as required below:

- Provide a total sum for Tie Installation and the Crossing Rehab proposal
- Mobilization and demobilization lump sum
- Taxes (all applicable)

Work Reporting

Daily work reports must be filled out and submitted to Cameron Ginther – Project Manager, email cameron. ginther@watco.com; and James Herman – Plant Manager, email james.herman@watco.com. Weekly reports should include updates to project schedules or any delays. A detailed summary report must be submitted upon the completion of the project.

> Cameron Ginther Watco

Doc. No. 049657

(Published in the Kansas Register December 23, 2021.)

Unified School District No. 426, Republic County, Kansas (Pike Valley)

Summary Notice of Bond Sale \$6,060,000* General Obligation Bonds, Series 2022

(General Obligation Bonds Payable from Unlimited Ad Valorem Taxes)

Bids

Subject to the Notice of Bond Sale dated December 13, 2021 (the "Notice"), facsimile and electronic bids will be received on behalf of the Clerk of Unified School District No. 426, Republic County, Kansas (Pike Valley) (the "Issuer") in the case of facsimile bids, at the address set forth below, and in the case of electronic bids, through PARITY[®] until 10:00 a.m. (CST) January 10, 2022, for the purchase of the above-referenced bonds (the "Bonds"). No bid of less than 102.5% of the principal amount of the Bonds and accrued interest thereon to the date of delivery will be considered.

Bond Details

The Bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The Bonds will be dated January 27, 2022, and will become due on September 1 in the years as follows:

(continued)

Year	Principal Amount*	Year	Principal Amount*
2024	\$240,000	2034	\$325,000
2025	250,000	2035	335,000
2026	255,000	2036	340,000
2027	270,000	2037	350,000
2028	280,000	2038	360,000
2029	290,000	2039	370,000
2030	300,000	2040	375,000
2031	305,000	2041	385,000
2032	315,000	2042	395,000
2033	320,000		

The Bonds will bear interest from the date thereof at rates to be determined when the Bonds are sold as hereinafter provided, which interest will be payable semiannually on March 1 and September 1 in each year, beginning on March 1, 2023.

Book-Entry-Only System

The Bonds shall be registered under a book-entry-only system administered through DTC.

Paying Agent and Bond Registrar

Treasurer of the State of Kansas, Topeka, Kansas.

Good Faith Deposit

Each bid shall be accompanied (in the manner set forth in the Notice) by a good faith deposit in the form of a cashier's or certified check drawn on a bank located in the United States of America or a wire transfer in Federal Reserve funds immediately available for use by the Issuer in the amount of \$121,200.

Delivery

The Issuer will pay for preparation of the Bonds and will deliver the same properly prepared, executed, and registered without cost to the successful bidder on or about January 27, 2022, to DTC for the account of the successful bidder.

Assessed Valuation and Indebtedness

The Equalized Assessed Tangible Valuation for Computation of Bonded Debt Limitations for the year 2021 is \$30,297,206. The total general obligation indebtedness of the Issuer as of the Dated Date, including the Bonds being sold, is \$6,060,000.

Approval of Bonds

The Bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Wichita, Kansas, Bond Counsel to the Issuer, whose approving legal opinion as to the validity of the Bonds will be furnished and paid for by the Issuer, printed on the Bonds, and delivered to the successful bidder as and when the Bonds are delivered.

Additional Information

Additional information regarding the Bonds may be obtained from the undersigned, or from the Financial Advisor at the addresses set forth below:

Issuer

Office of the Board of Education Attn: Morgan Barnhart, Clerk 100 School St. Scandia, KS 66966 785-335-2206 Fax: 785-335-2219 morgan.barnhart@pikevalley.com

Financial Advisor

Piper Sandler & Co. Attn: Dustin Avey 11635 Rosewood St. Leawood, KS 66211 913-345-3375 Fax: 913-345-3393 dustin.avey@psc.com

Dated December 13, 2021.

Morgan Barnhart Clerk

* Subject to change, see the Notice Doc. No. 049663

(Published in the Kansas Register December 23, 2021.)

Unified School District No. 108, Washington County, Kansas (Washington County Schools)

Notice of Intent to Seek Private Placement General Obligation Bonds, Series 2022

Notice is hereby given that Unified School District No. 108, Washington County, Kansas (Washington County Schools) (the "Issuer") proposes to seek a private placement of the above-referenced bonds (the "Bonds"). The maximum aggregate principal amount of the Bonds shall not exceed \$1,600,000. The proposed sale of the Bonds is in all respects subject to approval of a bond purchase agreement between the Issuer and the purchaser of the Bonds and the adoption of a resolution by the governing body authorizing the issuance of the Bonds and the execution of various documents necessary to deliver the Bonds.

Dated December 13, 2021.

Amy Anderson Clerk

Doc. No. 049660

(Published in the Kansas Register December 23, 2021.)

Rice County, Kansas

Notice of Intent to Seek Private Placement Taxable General Obligation Bonds Series A, 2021

Notice is hereby given that Rice County, Kansas (the "Issuer") proposes to seek a private placement of the above-referenced bonds. The maximum aggregate principal amount of the bonds shall not exceed \$50,000. The proposed sale of the bonds is in all respects subject to approval of a bond purchase agreement between the Issuer and the purchaser of the bonds and the adoption of a resolution by the governing body of the Issuer authorizing the issuance of the bonds and the execution of various documents necessary to deliver the bonds.

Aurelia Garcia County Clerk

Doc. No. 049661

(Published in the Kansas Register December 23, 2021.)

Rice County, Kansas

Notice of Intent to Seek Private Placement General Obligation Bonds Series 2021

Notice is hereby given that Rice County, Kansas (the "Issuer") proposes to seek a private placement of the above-referenced bonds. The maximum aggregate principal amount of the bonds shall not exceed \$5,000,000. The proposed sale of the bonds is in all respects subject to approval of a bond purchase agreement between the Issuer and the purchaser of the bonds and the adoption of a resolution by the governing body of the Issuer authorizing the issuance of the bonds and the execution of various documents necessary to deliver the bonds.

	Aurelia Garcia
	County Clerk
NI 040660	

Doc. No. 049662

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.—INSTANT GAMES AND DRAWINGS

111-4-3687. "Supreme" instant ticket lottery game number 336. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Supreme." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3687.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Captions
THR
FOR
SIX
SEV
EGT
NIN
ELVN
TWLV
THRN
FRTN
FIFTN
SIXTN
SEVTN
EGTN
NINTN
TWYONE
TWYTWO
TWYTHR
TWYFOR
TWYFIV
TWYSIX
TWYSEV
TWYEGT
TWYNIN

31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX
47	FRYSEV
48	FRYEGT
49	FRYNIN
51	FTYONE
52	FTYTWO
53	FTYTHR
54	FTYFOR
Symbol of a stack of money	WIN
2X	2TIMES
5X	5TIMES
10X	10TIMES
20X	20TIMES
Prize Symbols	Captions
20.00	TWENTY
30.00	THIRTY
$40^{.00}$	FORTY
50 ^{.00}	FIFTY
\$100	ONE-HUN
\$200	TWO-HUN
\$500	FIVE-HUN
¢000	ONETHOU

(c) For this game, a play/prize symbol shall appear in 66 play spots within the play area or areas.

ONETHOU

10-THOU

250-THOU

\$1000

\$10000

\$250000

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 019.

(e) The price of instant tickets sold by a retailer for this game shall be \$30.00 each.

(f) "Supreme" is a key number match game with multiplier features. The player will scratch the play area to reveal six "WINNING NUMBERS" and 30 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a stack of money, the player wins the prize amount shown. If a player reveals a "2X" symbol, the player reveals a "5X" symbol, the player wins five times the prize amount shown. If a player reveals a "continued)

Vol. 40, No. 51, December 23, 2021

"10X" symbol, the player wins 10 times the prize amount shown. If a player reveals a "20X" symbol, the player wins 20 times the prize amount shown.

(g) Each ticket in this game may win up to 30 times.

(h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Winners Per 300,000	Prize Cost
\$30	\$30	37,500	\$1,125,000
\$40	\$40	17,000	\$680,000
\$20 (2X)	\$40	17,240	\$689,600
\$50	\$50	6,300	\$315,000
\$30 + \$20	\$50	6,300	\$315,000
\$100	\$100	2,000	\$200,000
\$20 (5X)	\$100	2,800	\$280,000
50 (2X)	\$100	2,800	\$280,000
\$20 x 5	\$100	2,000	\$200,000
\$200	\$200	800	\$160,000
(\$40 x 4) + \$20 (2X)	\$200	950	\$190,000
\$100 + \$20 (5X)	\$200	950	\$190,000
\$20 (10X)	\$200	950	\$190,000
\$500	\$500	200	\$100,000
\$100 (5X)	\$500	300	\$150,000
\$20 (20X) + (\$20 x 5)	\$500	300	\$150,000
\$20 (10X) + (\$50 x 4) + \$100	\$500	300	\$150,000
\$50 x 10	\$500	200	\$100,000
\$1,000	\$1,000	20	\$20,000
\$500 x 2	\$1,000	18	\$18,000
\$50 (20X)	\$1,000	20	\$20,000
$(10X) + (40 \times 5) + (20 \times 10) + (50 \times 10) +$	¢1.000	20	¢ 2 0.000
(\$50 x 2)	\$1,000	20	\$20,000
(\$20 x 16) + (\$40 x 7) + (\$50 x 4) + \$100 (2X)	\$1,000	20	\$20,000
\$10,000	\$10,000	4	\$40,000
$(\$20 \times 5) + (\$50 \times 4) + (\$100 \times 4) + (\$200 \times 4) + (\$500 \times 9) +$	\$10,000	-	\$ 10,000
(\$1,000 x 4)	\$10,000	4	\$40,000
\$500 x 19 + \$20 (20X) + \$100	\$10,000	4	\$40,000
\$250,000	\$250,000	4	\$1,000,000
Players Loyalty Program			\$67,500
	TOTAL	99,004	\$6,750,100

(j) The odds of winning a prize in this game are approximately one in 3.03. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-11-24-21, Nov. 10, 2021.)

111-4-3688. "10X" instant ticket lottery game number 360. (a) The Kansas lottery may conduct an instant winner lottery game entitled "10X." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3688.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE

4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
10X (outlined)	WINX10

BONUS: Play Symbol

Symbol of a moneybag

ol Caption levbag MONEYBAG

Prize Symbols	Captions
FREE	\$1TICKET
WIN	WIN
\$1 ^{.00}	ONE\$
\$2 ^{.00}	TWO\$
\$5 ^{.00}	FIVE\$
\$10.00	TEN\$
\$20 ^{.00}	TWENTY
\$30.00	THIRTY
\$100	HUNDRED
\$200	TWO-HUN
\$5,000	FIV-THO

(c) For this game, a play/prize symbol shall appear in 11 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(f) "10X" is a key number match game with an instant win, bonus play, and multiplier feature. The player will scratch the play area to reveal one "WINNING NUM-BER" and five "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches the "WINNING NUMBERS." If the player matches the "WINNING NUMBER" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a "10X" symbol, the player wins ten times the prize shown. If the player reveals any moneybag symbols in the play area, the player will refer to the "BONUS PRIZE LEGEND" located to the side of the play area to determine the prize amount won: one symbol will win \$5, two symbols will win \$10, three symbols will win \$20, and four symbols will win \$30.

(g) Each ticket in this game may win up to 5 times.

(h) Approximately 4,080,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Kansas Register

Prize Description	Prize	Winners Per 4,080,000	Prize Cost
\$1 FREE TICKET	Ticket	408,000.00	\$0.00
\$1	\$1	299,200.00	\$299,200.00
\$2	\$2	13,600.00	\$27,200.00
\$1 x 2	\$2	81,600.00	\$163,200.00
\$5	\$5	6,800.00	\$34,000.00
\$1 x 5	\$5	27,200.00	\$136,000.00
\$5 (Bonus)	\$5	40,800.00	\$204,000.00
(\$2 x 2) + \$1	\$5	20,400.00	\$102,000.00
\$10	\$10	3,400.00	\$34,000.00
\$1 (10X)	\$10	17,000.00	\$170,000.00
\$10 (Bonus)	\$10	10,200.00	\$102,000.00
\$5 (Bonus) + (\$2 x 2) + \$1	\$10	10,200.00	\$102,000.00
\$20	\$20	3,400.00	\$68,000.00
\$1 (10X) + (\$2 x 2) + \$5 + \$1	\$20	3,400.00	\$68,000.00
\$20 (Bonus)	\$20	3,400.00	\$68,000.00
\$1 (10X) + \$10 (Bonus)	\$20	3,400.00	\$68,000.00
\$30	\$30	170.00	\$5,100.00
\$2 (10X) + \$5 (Bonus) + \$5	\$30	2,550.00	\$76,500.00
\$30 (Bonus)	\$30	1,870.00	\$56,100.00
\$1 (10X) + \$20 (Bonus)	\$30	2,210.00	\$66,300.00
\$100	\$100	85.00	\$8,500.00
(\$20 x 2) + \$1 (10X) + \$5 (10X)	\$100	680.00	\$68,000.00
\$20 (Bonus) + \$5 (10X) + \$30	\$100	680.00	\$68,000.00
\$10 (10X)	\$100	255.00	\$25,500.00
\$200	\$200	85.00	\$17,000.00
\$10 (10X) + \$5 (10X) +			
(\$2 (10X) x 2) + \$1 (10X)	\$200	340.00	\$68,000.00
$(\$30 \times 2) + \$10 (10X) + (\$20 \times 2)$	\$200	85.00	\$17,000.00
(\$200 (10X) x 2) + \$100 (10X)	\$5,000	10.00	\$50,000.00
\$5,000	\$5,000	2.00	\$10,000.00
PLAYER LOYALTY PROGRAM			\$22,000.00
2ND CHANCE PRIZES			\$1,000.00
TOTAL PRIZES		961,022.00	\$2,204,600.00

(j) The odds of winning a prize in this game are approximately one in 4.25. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-11-24-21, Nov. 10, 2021.)

111-4-3689. "20X" instant ticket lottery game number 361. (a) The Kansas lottery may conduct an instant winner lottery game entitled "20X." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3689.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN

	16	SIXTN
	10	SEVTN
	18	EGHTN
	10	NINTN
	21	TWONE
	22	TWONE
	23	TWTHR
	23	TWFOR
	25	TWFIV
	10X (outlined)	WINX10
	20X (outlined)	WINX10 WINX20
	20X (outlined)	VVII V/20
BONUS:	Play Symbol	Caption
S	ymbol of a moneybag	MONEYBAG
	5 5 6	
	Prize Symbols	Captions
	Prize Symbols FREE	Captions \$2TICKET
		-
	FREE	\$2TICKET
	FREE WIN	\$2TICKET WIN
	FREE WIN \$2 ^{.00}	\$2TICKET WIN TWO\$
	FREE WIN \$2 ^{.00} \$4 ^{.00}	\$2TICKET WIN TWO\$ FOUR\$
	FREE WIN \$2.00 \$4.00 \$5.00	\$2TICKET WIN TWO\$ FOUR\$ FIVE\$
	FREE WIN \$2.00 \$4.00 \$5.00 \$10.00	\$2TICKET WIN TWO\$ FOUR\$ FIVE\$ TEN\$
	FREE WIN \$2 ^{.00} \$4 ^{.00} \$5 ^{.00} \$10 ^{.00} \$20 ^{.00}	\$2TICKET WIN TWO\$ FOUR\$ FIVE\$ TEN\$ TWENTY
	FREE WIN \$2.00 \$4.00 \$5.00 \$10.00 \$20.00 \$50.00	\$2TICKET WIN TWO\$ FOUR\$ FIVE\$ TEN\$ TWENTY FIFTY
	FREE WIN \$2.00 \$4.00 \$5.00 \$10.00 \$20.00 \$50.00 \$100	\$2TICKET WIN TWO\$ FOUR\$ FIVE\$ TEN\$ TWENTY FIFTY HUNDRED
	FREE WIN \$2.00 \$4.00 \$5.00 \$10.00 \$20.00 \$50.00 \$100 \$200	\$2TICKET WIN TWO\$ FOUR\$ FIVE\$ TEN\$ TWENTY FIFTY HUNDRED TWO-HUN
	FREE WIN \$2.00 \$4.00 \$500 \$10.00 \$20.00 \$50.00 \$100 \$200 \$500	\$2TICKET WIN TWO\$ FOUR\$ FIVE\$ TEN\$ TWENTY FIFTY HUNDRED TWO-HUN FIV-HUN

(c) For this game, a play/prize symbol shall appear in 23 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(f) "20X" is a key number match game with an instant win, bonus play, and multiplier features. The player will scratch the play area to reveal three "WINNING NUM-BERS" and 10 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a "10X" symbol, the player wins ten times the prize shown. If the player reveals a "20X" symbol, the player wins twenty times the prize shown. If the player reveals any moneybag symbols in the play area, the player will refer to the "BONUS PRIZE LEGEND" located to the side of the play area to determine the prize amount won: one symbol will win \$5, two symbols will win \$10, three symbols will win \$20, and four symbols will win \$50.

(g) Each ticket in this game may win up to 10 times.

(h) Approximately 2,400,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(continued)

Regulations

(i) The expected number and value of instant prizes in this game shall be as follows:

this guille bluir be us follow	0.		
		Winners Per	
Prize Description	Prize	2,400,000	Prize Cost
\$2 FREE TICKET	Ticket	224,000.00	\$0.00
\$2	\$2	128,000.00	\$256,000.00
\$2 x 2	\$4	96,000.00	\$384,000.00
\$4	\$4	16,000.00	\$64,000.00
\$5	\$5	16,000.00	\$80,000.00
\$5 (Bonus)	\$5	48,000.00	\$240,000.00
\$5 (Bonus) + \$5	\$10	32,000.00	\$320,000.00
\$2 x 5	\$10	8,000.00	\$80,000.00
\$10	\$10	4,000.00	\$40,000.00
\$10 (Bonus)	\$10	4,000.00	\$40,000.00
\$2 (10X)	\$20	4,000.00	\$80,000.00
\$2 x 10	\$20	4,000.00	\$80,000.00
\$20	\$20	4,000.00	\$80,000.00
\$20 (Bonus)	\$20	4,000.00	\$80,000.00
\$2 (20X) + \$5 (Bonus) + \$5	\$50	1,200.00	\$60,000.00
\$20 (Bonus) + (\$5 x 6)	\$50	2,400.00	\$120,000.00
\$2 (10X) + (\$4 x 5) + \$10 (Bonus)	\$50	2,400.00	\$120,000.00
(\$2 x 5) + (\$10 x 3) + (\$5 x 2)	\$50	800.00	\$40,000.00
\$50	\$50	400.00	\$20,000.00
\$50 (Bonus)	\$50	800.00	\$40,000.00
\$5 (10X) + \$5 (20X) + \$20 (Bonus) +			
(\$5 x 4) + \$10	\$200	800.00	\$160,000.00
$(\$5 \times 2) + \$2 (20X) + \$10 (10X) +$	****		*******
\$50 (Bonus)	\$200	480.00	\$96,000.00
$2(20X) + 5(10X) + (20 \times 3) +$	#2 00	220.00	¢< 1,000,00
\$50 (Bonus)	\$200 \$200	320.00	\$64,000.00
\$200 (#10 (10)) - 2) : #E (20)() : #E0 :	\$200	32.00	\$6,400.00
(\$10 (10X) x 3) + \$5 (20X) + \$50 + \$50 (Bonus)	\$500	64.00	\$32,000.00
\$500	\$500	16.00	\$8,000.00
$(\$50 (20X) \times 3) + (\$100 (10X) \times 4) +$	φ500	10.00	\$0,000.00
(\$1,000 x 3)	\$10,000	6.00	\$60,000.00
\$10,000	\$10,000	2.00	\$20,000.00
PLAYER LOYALTY PROGRAM	, _ 0, 0 0 0		\$2,000.00
2ND CHANCE PRIZES			\$27,000.00
TOTAL PRIZES		601,720.00	\$2,699,400.00
-		,	. ,,

(j) The odds of winning a prize in this game are approximately one in 3.99. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-11-24-21, Nov. 10, 2021.)

111-4-3690. "30X" instant ticket lottery game number 362. (a) The Kansas lottery may conduct an instant winner lottery game entitled "30X." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3690.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE

	11	ELEVN
	12	TWELV
	13	THRTN
14		FORTN
	15	FIFTN
	16	SIXTN
	17	SEVTN
	18	EGHTN
	19	NINTN
	21	TWONE
	22	TWTWO
	23	TWTHR
	24	TWFOR
	25	TWFIV
	26	TWSIX
	27	TWSEV
	28	TWEGT
	29	TWNIN
	31	THONE
	10X (outlined)	WINX10
	20X (outlined)	WINX20
	30X (outlined)	WINX30
BONUS:	Play Symbol	Caption
Sy	mbol of a moneybag	MONEYBAG
	Prize Symbols	Captions
	FREE	\$3TICKET
	WIN	WIN
	\$2 ^{.00}	TWO\$
	\$3.00	THREE\$
	\$4 ^{.00}	FOUR\$
	\$5 ^{.00}	FIVE\$
	\$10.00	TEN\$
	ψιυ	
	\$20 ^{.00}	TWENTY

(c) For this game, a play/prize symbol shall appear in 34 play spots within the play area or areas.

TWO-HUN

FIV-HUN

FIVTN-THO

\$200

\$500

\$15,000

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 099.

(e) The price of instant tickets sold by a retailer for this game shall be \$3.00 each.

(f) "30X" is a key number match game with an instant win, bonus play, and multiplier features. The player will scratch the play area to reveal four "WINNING NUM-BERS" and 30 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS." If any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a "10X" symbol, the player wins 10 times the prize shown. If the player reveals a "20X" symbol, the player wins 20 times the prize shown. If the player reveals a "30X" symbol, the player wins 30 times the prize shown. If the player reveals any moneybag symbols in the play area, the player will refer to the "BONUS PRIZE LEGEND" located to the side of the play area to determine the prize amount won: one symbol will win \$10, two symbols will win \$20, three symbols will win \$30, and four symbols will win \$50.

(g) Each ticket in this game may win up to 15 times.

(h) Approximately 1,950,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Prize Description	Prize	Winners Per 1,950,000	Prize Cost
\$3 FREE TICKET	Ticket	117,000.00	\$0.00
\$3	\$3	117,000.00	\$351,000.00
\$4	\$4	39,000.00	\$156,000.00
\$2 x 2	\$4	78,000.00	\$312,000.00
\$5	\$5	78,000.00	\$390,000.00
\$10	\$10	4,875.00	\$48,750.00
\$10 (Bonus)	\$10	14,625.00	\$146,250.00
(\$2 x 3) + \$4	\$10	9,750.00	\$97,500.00
\$2 x 5	\$10	9,750.00	\$97,500.00
\$20	\$20	4,875.00	\$97,500.00
\$20 (Bonus)	\$20	4,875.00	\$97,500.00
\$2 (10X)	\$20	4,875.00	\$97,500.00
\$2 x 10	\$20	4,875.00	\$97,500.00
\$2 (20X) + \$10 (Bonus)	\$50	975.00	\$48,750.00
\$50 (Bonus)	\$50	650.00	\$32,500.00
\$2 (10X) + (\$4 x 5) + \$10 (Bonus)	\$50	1,950.00	\$97,500.00
$($2 \times 5) + ($10 \times 3) + ($5 \times 2)$	\$50	975.00	\$48,750.00
(\$5 x 6) + \$20 (Bonus)	\$50	1,950.00	\$97,500.00
\$100	\$100	260.00	\$26,000.00
\$3 (30X) + \$10 (Bonus)	\$100	780.00	\$78,000.00
(\$5 x 10) + (\$10 x 5)	\$100	780.00	\$78,000.00
(\$5 x 10) + (\$10 x 3) + \$20 (Bonus)	\$100	1,430.00	\$143,000.00
\$200	\$200	65.00	\$13,000.00
(\$5 x 2) + \$2 (20X) + \$10 (10X) + \$50 (Bonus)	\$200	390.00	\$78,000.00
\$2 (20X) + \$5 (10X) + (\$20 x 4) + \$30 (Bonus) \$5 (10X) + \$5 (20X) + (\$5 x 4) +	\$200	260.00	\$52,000.00
\$10 + \$20 (Bonus)	\$200	520.00	\$104,000.00
\$500	\$500	65.00	\$32,500.00
\$5 (20X) + \$10 (30X) + (\$4 x 5) + (\$10 x 5) + \$30 (Bonus)	\$500	390.00	\$195,000.00
\$20 (10X) + \$5 (30X) + \$3 (30X) + (\$10 x 4) + \$20 (Bonus) (\$10 (10X) + \$5 (20X) + \$100 +	\$500	260.00	\$130,000.00
(\$10 (10X) x 2) + \$5 (20X) + \$100 + \$5 (10X) + \$50 (Bonus)	\$500	260.00	\$130,000.00
\$15.000	\$15,000	2.00	\$30,000.00
(\$50 (30X) x 3) + (\$50 (20X) x 4) + (\$100 (10X) x 5) + (\$500 x 3)	\$15,000	2.00	\$30,000.00
PLAYER LOYALTY PROGRAM			\$3,000.00
2ND CHANCE PRIZES			\$34,600.00
TOTAL PRIZES		499,464.00	\$3,433,500.00

(j) The odds of winning a prize in this game are approximately one in 3.90. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-11-24-21, Nov. 10, 2021.)

111-4-3691. "50X" instant ticket lottery game number 363. (a) The Kansas lottery may conduct an instant winner lottery game entitled "50X." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3691.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGHTN
19	NINTN
21	TWONE
22	TWTWO
23	TWTHR
24	TWFOR
25	TWFIV
26	TWSIX
27	TWSEV
28	TWEGT
29	TWNIN
30	THRTY
31	THONE
32	THTWO
33	THTHR
34	THFOR
35	THFIV
36	THSIX
37	THSEV
38	THEGT
39	THNIN
40	FORTY
41	FRONE
42	FRTWO
43	FRTHR
44	FRFOR
45	FRFIV
46	FRSIX
47	FRSEV
48	FREGT
49	FRNIN
10X (outlined)	WINX10
10. Counter	

(continued)

	20X (outlined)	WINX20
	50X (outlined)	WINX50
BONUS:	Play Symbol	Caption
	5 5	-
Sy	ymbol of a moneybag	MONEYBAG
	Prize Symbols	Captions
	FREE	\$5TICKET
	WIN	WIN
	\$5 ^{.00}	FIVE\$
	\$10.00	TEN\$
	\$20.00	TWENTY
	\$25 ^{.00}	TWEN-FIV
	\$50.00	FIFTY
	\$100	HUNDRED
	\$500	FIV-HUN
	\$1,000	ONE-THO
	\$25,000	TWNFVTHO

(c) For this game, a play/prize symbol shall appear in 45 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

(e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

(f) "50X" is a key number match game with an instant win, bonus play, and multiplier features. The player will scratch the play area to reveal five "WINNING NUM-BERS" and 20 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a "10X" symbol, the player wins 10 times the prize shown. If the player reveals a "20X" symbol, the player wins 20 times the prize shown. If the player reveals a "50X" symbol, the player wins 50 times the prize shown. If the player reveals any moneybag symbols in the play area, the player will refer to the "BONUS PRIZE LEGEND" located to the side of the play area to determine the prize amount won: one symbol will win \$10, two symbols will win \$20, three symbols will win \$50, and four symbols will win \$100.

(g) Each ticket in this game may win up to 20 times.

(h) Approximately 1,500,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Prize Description	Prize	Winners Per 1,500,000	Prize Cost
	Free		
Free Ticket	Ticket	125,000.00	\$0.00
\$5	\$5	150,000.00	\$750,000.00
\$10	\$10	12,500.00	\$125,000.00
\$5 x 2	\$10	25,000.00	\$250,000.00
\$10 (Bonus)	\$10	62,500.00	\$625,000.00
\$20	\$20	6,250.00	\$125,000.00

(\$5 x 2) + \$10 (Bonus)	\$20	18,750.00	\$375,000.00
\$10 (Bonus) + \$10	\$20	12,500.00	\$250,000.00
\$20 (Bonus)	\$20	12,500.00	\$250,000.00
\$50	\$50	1,000.00	\$50,000.00
\$5 (10X)	\$50	7,000.00	\$350,000.00
\$10 (Bonus) + (\$5 x 8)	\$50	9,000.00	\$450,000.00
\$10 x 5	\$50	2,000.00	\$100,000.00
\$50 (Bonus)	\$50	6,000.00	\$300,000.00
\$100	\$100	20.00	\$2,000.00
\$5 (10X) + \$20 (Bonus) + (\$5 x 6)	\$100	280.00	\$28,000.00
\$50 (Bonus) + \$5 (10X)	\$100	200.00	\$20,000.00
\$5 (20X)	\$100	200.00	\$20,000.00
(\$5 x 10) + (\$10 x 3) + \$20 (Bonus)	\$100	400.00	\$40,000.00
\$10 (Bonus) + (\$10 x 4) + \$5 (10X)	\$100	400.00	\$40,000.00
\$100 (Bonus)	\$100	300.00	\$30,000.00
\$5 (10X) + (\$5 x 8) + \$10 (Bonus)	\$100	300.00	\$30,000.00
\$5 (10X) + (\$5 x 6) + \$20 (Bonus)	\$100	400.00	\$40,000.00
\$500	\$500	10.00	\$5,000.00
(\$50 x 4) + (\$20 x 10) + \$100 (Bonus)	\$500	20.00	\$10,000.00
\$5 (10X) + \$5 (20X) + \$5 (50X) +			
\$100 (Bonus)	\$500	30.00	\$15,000.00
$(\$50 \times 2) + \$10 (10X) + \$10 (20X) +$	* =00		***
(\$5 x 10) + \$50 (Bonus)	\$500 #500	50.00	\$25,000.00
\$10 (50X)	\$500	10.00	\$5,000.00
(\$10 x 12) + (\$20 x 4) + \$10 (10X) + \$5 (20X) + (\$50 x 2)	\$500	40.00	\$20,000.00
\$5 (50X) + (\$20 x 5) + (\$10 x 10) + \$50 (Bonus)	\$500	20.00	\$10,000.00
\$5 (20X) + \$20 (10X) + (\$20 x 5) +			
\$100 (Bonus)	\$500	20.00	\$10,000.00
\$1,000	\$1,000	2.00	\$2,000.00
$(\$5 (10X) \times 10) + \$50 + (\$100 \times 4) +$			
\$50 (Bonus)	\$1,000	4.00	\$4,000.00
(10X) + (20X) + (10X) + (10X			
(\$25 x 4) + (\$20 x 5) + \$100 (Bonus)	\$1,000	4.00	\$4,000.00
\$50 (10X) + \$20 (10X) +	φ1,000	4.00	\$4,000.00
$(\$10 (10X) \times 2) + (\$5 \times 10) +$			
\$50 (Bonus)	\$1,000	10.00	\$10,000.00
\$20 (50X)	\$1,000	10.00	\$10,000.00
(\$20 (50X) x 10) + \$50 (20X) x 5) +			
(\$100 (20X) x 5)	\$25,000	6.00	\$150,000.00
\$25,000	\$25,000	2.00	\$50,000.00
PLAYER LOYALTY PROGRAM			\$5,000.00
2ND CHANCE PRIZES			\$46,100.00
TOTAL PRIZES		452,738.00	\$4,631,100.00

(j) The odds of winning a prize in this game are approximately one in 3.31. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-11-24-21, Nov. 10, 2021.)

111-4-3692. "100X" instant ticket lottery game number 364. (a) The Kansas lottery may conduct an instant winner lottery game entitled "100X." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3692.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
6	SIX

SXSIX

_	
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGHTN
19	NINTN
21	TWONE
22	TWTWO
23	TWTHR
24	TWFOR
25	TWFIV
26	TWSIX
27	TWSEV
28	TWEGT
29	TWNIN
30	THRTY
31	THONE
32	THTWO
33	THTHR
34	THFOR
35	THFIV
	THSIX
36	
37	THSEV
38	THEGT
39	THNIN
40	FORTY
41	FRONE
42	FRTWO
43	FRTHR
44	FRFOR
45	FRFIV
46	FRSIX
47	FRSEV
48	FREGT
49	FRNIN
51	FTYON
52	FTYTW
53	FTYTH
54	FTYFR
55	FTYFV
	FTYSX
56	
57	FTYSV
58	FTYET
59	FTYNI
60	SIXTY
61	SXONE
62	SXTWO
63	SXTHR
64	SXFOR
65	SXFIV

	67	SXSEV
	10X (outlined)	WINX10
	20X (outlined)	WINX20
	50X (outlined)	WINX50
	100X (outlined)	WINX100
BONUS:	Play Symbol	Caption
Sy	ymbol of a moneybag	MONEYBAG
	Prize Symbols	Captions
	WIN	WIN
	\$5 ^{.00}	FIVE\$
	\$10 ^{.00}	TEN\$
	\$15 ^{.00}	FIFTN\$
	\$20.00	TWENTY
	\$30.00	THIRTY
	\$50 ^{.00}	FIFTY
	\$100	HUNDRED
	\$200	TWO-HUN
	\$500	FIV-HUN
	\$1,000	ONE-THO
	\$75,000	SVNFVTHO
56 play spo (d) The t	is game, a play/prize s ots within the play area icket numbers in each start with 000 and end	or areas. book of tickets in this
0		

66

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) "100X" is a key number match game with an instant win, bonus play, and multiplier features. The player will scratch the play area to reveal six "WINNING NUM-BERS" and 25 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a "10X" symbol, the player wins 10 times the prize shown. If the player reveals a "20X" symbol, the player wins 20 times the prize shown. If the player reveals a "50X" symbol, the player wins 50 times the prize shown. If the player reveals a "100X" symbol, the player wins 100 times the prize shown. If the player reveals any moneybag symbols in the play area, the player will refer to the "BONUS PRIZE LEGEND" located to the side of the play area to determine the prize amount won: one symbol will win \$20, two symbols will win \$50, three symbols will win \$100, and four symbols will win \$200.

(g) Each ticket in this game may win up to 25 times.

(h) Approximately 750,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Kansas Register _

Prize Description	Prize	Winners Per 750,000	r Prize Cost	Play Symbols	Captions
\$10		125,000.00	\$1,250,000.00	1	ONE
\$10 \$20	\$10 \$20	5,000.00	\$1,250,000.00	2	TWO
\$20 \$10 x 2	\$20 \$20	5,000.00	\$100,000.00	3	THREE
\$10 x 2 \$5 x 4	\$20 \$20	10,000.00	\$200,000.00	4	FOUR
\$3 x 4 \$20 (Bonus)	\$20 \$20	25,000.00	\$500,000.00	5	FIVE
$($5 \times 2) + 10	\$20 \$20	23,000.00 5,000.00	\$100,000.00	6	SIX
\$30	\$20 \$30	1,000.00	\$30,000.00	7	SEVEN
\$10 + \$20 (Bonus)	\$30 \$30	14,000.00	\$420,000.00	8	EIGHT
\$10 x 3	\$30	10,000.00	\$300,000.00	9	NINE
\$50	\$50	250.00	\$12,500.00	11	ELEVN
\$50 (Bonus)	\$50	4,000.00	\$200,000.00	12	TWELV
\$5 (10X)	\$50	4,000.00	\$200,000.00	13	THRTN
\$20 (Bonus) + (\$10 x 3)	\$50	500.00	\$25,000.00	14	FORTN
$(\$5 \times 4) + (\$10 \times 3)$	\$50	3,750.00	\$187,500.00	15	FIFTN
\$100	\$100	250.00	\$25,000.00	16	SIXTN
\$10 (10X)	\$100	1,250.00	\$125,000.00	10	SEVTN
(\$10 x 5) + \$50 (Bonus)	\$100	1,000.00	\$100,000.00		
\$5 (10X) + \$20 (Bonus) + (\$5 x 6)	\$100	500.00	\$50,000.00	18	EGHTN
\$100 (Bonus)	\$100	1,000.00	\$100,000.00	19	NINTN
$(\$5 \times 4) + (\$10 \times 4) + \$20 \times 2)$	\$100	1,000.00	\$100,000.00	21	TWONE
\$200	\$200	50.00	\$10,000.00	22	TWTWO
\$5 (20X) + (\$10 x 5) + \$50 (Bonus)	\$200	200.00	\$40,000.00	23	TWTHR
\$200 (Bonus)	\$200	200.00	\$40,000.00	24	TWFOR
\$10 (10X) + \$100 (Bonus)	\$200	250.00	\$50,000.00	25	TWFIV
\$5 (20X) + (\$20 x 2) + \$10 +				26	TWSIX
\$50 (Bonus)	\$200	1,000.00	\$200,000.00	27	TWSEV
(\$10 x 15) + \$30 + \$20 (Bonus)	\$200	425.00	\$85,000.00	28	TWEGT
(\$5 x 20) + (\$20 x 5)	\$200	500.00	\$100,000.00	29	TWNIN
\$10 (20X)	\$200	375.00	\$75,000.00	30	THRTY
\$500	\$500	10.00	\$5,000.00	31	THONE
\$10 (50X) \$15 (10X) + (\$20 - 5) + \$10 (20X) +	\$500	10.00	\$5,000.00	32	THTWO
\$15 (10X) + (\$20 x 5) + \$10 (20X) + \$50 (Bonus)	\$500	30.00	\$15,000.00	33	THTHR
\$5 (10X) + (\$10 x 5) + \$10 (10X) +	φυσσ	00.00	410,000.00	34	THFOR
\$10 (20X) + \$100 (Bonus)	\$500	75.00	\$37,500.00	35	THFIV
(\$10 x 10) + (\$20 x 5) + \$100 +				36	THSIX
\$200 (Bonus)	\$500	75.00	\$37,500.00	37	THSEV
\$1,000	\$1,000	10.00	\$10,000.00	38	THEGT
10(50X) + 10(20X) + 10(10X) + 200(Repute)	¢1 000	40.00	¢40.000.00	39	THNIN
\$200 (Bonus) \$10 (100X)	\$1,000 \$1,000		\$40,000.00 \$10,000.00	40	FORTY
(100x) (100x) (100x) + $(10x 10)$ + $(50x 10)$ +		10.00	\$10,000.00	41	FRONE
(100) + (100	\$1,000	50.00	\$50,000.00	42	FRTWO
\$75,000	\$75,000		\$75,000.00	43	FRTHR
(\$100 (50X) x 6) + \$1,000 (20X) +				43	FRFOR
(\$500 (10X) x 3) + (\$10 (100X) x 10) \$75,000	3.00	\$225,000.00	45	FRFIV
PLAYER LOYALTY PROGRAM			\$10,000.00	46	FRSIX
2ND CHANCE PRIZES			\$53,000.00	40	FRSEV
TOTAL PRIZES		220,814.00	\$5,298,000.00		
(j) The odds of winning	a prize	in this ga	me are an-	48	FREGT
proximately one in 3.40. (A				49	FRNIN
implementing K.S.A. 74-8				51	FTYON
T-111-11-24-21, Nov. 10, 202			,	52	FTYTW
111-4-3693. "200X" i	,	ticket la	Hery arma	53	FTYTH
number 365. (a) The Kansa				54	FTYFR
stant winner lottery game e	ntitled	"200X " T	he rules for	55	FTYFV
this game are contained in I				56	FTYSX

4-3693.(b) The "play and prize symbols" and "captions" for this game are as follows:

this game are contained in K.A.R. 111-3-1 et seq. and 111-

57

58

59

FTYSV

FTYET

FTYNI

Kansas Register

60	SIXTY
61	SXONE
62	SXTWO
63	SXTHR
64	SXFOR
65	SXFIV
66	SXSIX
67	SXSEV
68	SXEGT
69	SXNIN
70	SEVNTY
71	SVONE
72	SVTWO
73	SVTHR
74	SVFOR
10X (outlined)	WINX10
20X (outlined)	WINX20
50X (outlined)	WINX50
100X (outlined)	WINX100
200X (outlined)	WINX200
BONUS: Play Symbol	Caption
	-
Symbol of a moneybag	MONEYBAG
Symbol of a moneybag	
Symbol of a moneybag Prize Symbols	Captions
Symbol of a moneybag Prize Symbols WIN	Captions WIN
Symbol of a moneybag Prize Symbols WIN \$5 ^{.00}	Captions WIN FIVE\$
Symbol of a moneybag Prize Symbols WIN \$5.00 \$10.00	Captions WIN FIVE\$ TEN\$
Symbol of a moneybag Prize Symbols WIN \$5 ^{.00} \$10 ^{.00} \$20 ^{.00}	Captions WIN FIVE\$ TEN\$ TWENTY
Symbol of a moneybag Prize Symbols WIN \$5 ^{.00} \$10 ^{.00} \$20 ^{.00} \$30 ^{.00}	Captions WIN FIVE\$ TEN\$ TWENTY THIRTY
Symbol of a moneybag Prize Symbols WIN \$5 ^{.00} \$10 ^{.00} \$20 ^{.00} \$30 ^{.00} \$50 ^{.00}	Captions WIN FIVE\$ TEN\$ TWENTY THIRTY FIFTY
Symbol of a moneybag Prize Symbols WIN \$5 ^{.00} \$10 ^{.00} \$20 ^{.00} \$30 ^{.00} \$50 ^{.00} \$100	Captions WIN FIVE\$ TEN\$ TWENTY THIRTY FIFTY HUNDRED
Symbol of a moneybag Prize Symbols WIN \$5 ^{.00} \$10 ^{.00} \$20 ^{.00} \$30 ^{.00} \$50 ^{.00} \$100 \$200	Captions WIN FIVE\$ TEN\$ TWENTY THIRTY FIFTY HUNDRED TWO-HUN
Symbol of a moneybag Prize Symbols WIN \$5 ^{,00} \$10 ^{,00} \$20 ^{,00} \$30 ^{,00} \$50 ^{,00} \$100 \$200 \$300	Captions WIN FIVE\$ TEN\$ TWENTY THIRTY FIFTY HUNDRED TWO-HUN THR-HUN
Symbol of a moneybag Prize Symbols WIN \$5 ^{.00} \$10 ^{.00} \$20 ^{.00} \$30 ^{.00} \$50 ^{.00} \$100 \$200 \$300 \$300 \$500	Captions WIN FIVE\$ TEN\$ TWENTY THIRTY FIFTY HUNDRED TWO-HUN THR-HUN FIV-HUN
Symbol of a moneybag Prize Symbols WIN \$5 ^{.00} \$10 ^{.00} \$20 ^{.00} \$30 ^{.00} \$50 ^{.00} \$100 \$200 \$300 \$500 \$300 \$500 \$1,000	Captions WIN FIVE\$ TEN\$ TWENTY THIRTY FIFTY HUNDRED TWO-HUN THR-HUN FIV-HUN ONE-THO
Symbol of a moneybag Prize Symbols WIN \$5 ^{.00} \$10 ^{.00} \$20 ^{.00} \$30 ^{.00} \$50 ^{.00} \$100 \$200 \$300 \$300 \$500	Captions WIN FIVE\$ TEN\$ TWENTY THIRTY FIFTY HUNDRED TWO-HUN THR-HUN FIV-HUN

(c) For this game, a play/prize symbol shall appear in 67 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.

(e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.

(f) "200X" is a key number match game with an instant win, bonus play, and multiplier features. The player will scratch the play area to reveal seven "WINNING NUMBERS" and 30 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a "10X" symbol, the player wins 10 times the prize shown. If the player reveals a "20X" symbol, the player wins 20 times the prize shown. If the player reveals a "50X" symbol, the player wins 50 times the prize shown. If the player reveals a "100X" symbol, the player wins 100 times the prize shown. If the player reveals a "200X" symbol, the player wins 200 times the prize shown. If the player reveals any moneybag symbols in the play area, the player will refer to the "BONUS PRIZE LEGEND" located to the side of the play area to determine the prize amount won: one symbol will win \$50, two symbols will win \$100, three symbols will win \$200, and four symbols will win \$300.

(g) Each ticket in this game may win up to 30 times.

(h) Approximately 540,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 180,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Prize Description	Prize	Winners Pe 540,000	r Prize Cost
\$20	\$20	72,000.00	\$1,440,000.00
\$30	\$20 \$30	1,800.00	\$1,440,000.00 \$54,000.00
1	\$30 \$30	,	. ,
\$10 x 3 \$20 + \$10	4	18,000.00	\$540,000.00
\$20 + \$10	\$30 ¢50	16,200.00	\$486,000.00
\$50 (Barras)	\$50 ¢50	900.00	\$45,000.00
\$50 (Bonus)	\$50 ¢50	18,000.00	\$900,000.00
\$10 x 5 (*20 x 2) + *10	\$50 ¢50	9,000.00	\$450,000.00
$(\$20 \times 2) + \10	\$50	8,100.00	\$405,000.00
\$100 (Barrana)	\$100	300.00	\$30,000.00
\$100 (Bonus)	\$100	300.00	\$30,000.00
\$20 x 5	\$100	4,500.00	\$450,000.00
\$10 (10X)	\$100	4,500.00	\$450,000.00
$(\$10 \times 5) + \50 (Bonus)	\$100	3,000.00	\$300,000.00
(\$5 x 10) + \$50 (Bonus)	\$100	5,400.00	\$540,000.00
\$200	\$200	30.00	\$6,000.00
\$200 (Bonus)	\$200	300.00	\$60,000.00
$(\$10 \times 5) + (\$5 \times 10) + \$100$ (Bonus)	\$200	360.00	\$72,000.00
$10(10X) + (20 \times 2) + 10 + (50(10X)) + (10X) $	¢200	200.00	¢40,000,00
\$50 (Bonus)	\$200 \$200	300.00 240.00	\$60,000.00 \$48,000.00
\$10 (20X) (#10	\$200 \$200		\$48,000.00 \$90,000.00
$(\$10 \times 10) + (\$30 \times 2) + (\$20 \times 2)$	\$200 \$200	450.00	\$90,000.00
\$10 (10X) + (\$10 x 10) (\$5 x 2) + (\$10 x 2) + (\$20 x 2) +	\$200	450.00	\$90,000.00
$(53 \times 2) + (510 \times 2) + (520 \times 2) + (530 + 5100 (Bonus))$	\$200	570.00	\$114,000.00
\$300	\$300	60.00	\$18,000.00
\$300 (Bonus)	\$300	240.00	\$72,000.00
\$10 (20X) + (\$10 x 5) + \$50 (Bonus)	\$300	120.00	\$36,000.00
(\$10 (10X) x 2) + \$100 (Bonus)	\$300	120.00	\$36,000.00
\$500	\$500	30.00	\$15,000.00
\$10 (50X)	\$500	60.00	\$30,000.00
\$20 (10X) + (\$10 x 5) + \$10 (20X) +			
\$50 (Bonus) (\$10 x 10) + \$10 (10X) +	\$500	120.00	\$60,000.00
$(310 \times 10) + 310 (10 \times) + 3300 (Bonus)$	\$500	120.00	\$60,000.00
$(\$10 \times 10) + (\$20 \times 20)$	\$500	210.00	\$105,000.00
\$1,000	\$1,000	12.00	\$12,000.00
\$10 (100X)	\$1,000	12.00	\$12,000.00
\$20 (50X)	\$1,000	12.00	\$12,000.00
$50(10X) + ($10 \times 22) + ($20 \times 4) +$	φ1,000	12.00	φ12,000.00
\$200 (Bonus)	\$1,000	60.00	\$60,000.00
\$10,000	\$10,000	3.00	\$30,000.00
\$10 (200X) + \$20 (100X) + (\$30 (50X) x 2) + \$50 (20X) + \$100 (10X) + (\$20 x 5) +			
(\$50 x 14) + \$200 (Bonus)	\$10,000	3.00	\$30,000.00
			(continued)

THEGT

THNIN

FORTY

$(\$20 (50X) \times 4) + (\$100 \times 17) + (\$100 (10X) - 2) + \$10 (102X) + $				
(\$100 (10X) x 2) + \$10 (100X) + (\$500 x 2) + \$300 (Bonus)	\$10,000	3.00	\$30,000.00)
\$100,000	\$100,000	1.00	\$100,000.00	
\$100 (200X) + (\$50 (100X) x 10) + (\$20 (100X) x 10) + (\$100 (20X) x 4) + (\$50 (10X) x 2 \$10 (50X) + \$30 (10X) + \$20 (10X)	Ś) \$100,000	3.00 5,889.00	1 ,	
PLAYER LOYALTY PROGRAM	10	0,007.00	\$12,500.00	
2ND CHANCE PRIZES			\$70,000.00	
(j) The odds of winning				
proximately one in 3.26. (Authorized	l by K.S	.A. 74-8710;	;
proximately one in 3.26. (Authorized	l by K.S	.A. 74-8710;	;
proximately one in 3.26. (implementing K.S.A. 74-	Authorized -8710 and	l by K.S	.A. 74-8710;	;
proximately one in 3.26. (implementing K.S.A. 74- T-111-11-24-21, Nov. 10, 20	Authorized -8710 and 021.)	l by K.S 74-872	5.A. 74-8710; 0; effective,	; ,
proximately one in 3.26. (implementing K.S.A. 74- T-111-11-24-21, Nov. 10, 20 III-4-3694. "300X"	Authorized -8710 and 021.) instant ti	l by K.S 74-872 cket lo	5.A. 74-8710; 0; effective, ttery game	; ,
proximately one in 3.26. (implementing K.S.A. 74- T-111-11-24-21, Nov. 10, 20 111-4-3694. "300X" number 225. (a) The Kans	Authorized -8710 and 021.) instant ti sas lottery i	l by K.S 74-8720 cket lo may cor	A. 74-8710; 0; effective, ttery game nduct an in-	; ; •
proximately one in 3.26. (implementing K.S.A. 74- T-111-11-24-21, Nov. 10, 20 111-4-3694. "300X" number 225. (a) The Kans stant winner lottery game	Authorized -8710 and 021.) instant ti sas lottery 1 e entitled "3	l by K.S 74-8720 cket lo may con 800X.″ T	5.A. 74-8710; 0; effective, ttery game nduct an in- The rules for	; ; ;
proximately one in 3.26. (implementing K.S.A. 74- T-111-11-24-21, Nov. 10, 20 III-4-3694. "300X" number 225. (a) The Kans stant winner lottery game this game are contained in	Authorized -8710 and 021.) instant ti sas lottery 1 e entitled "3	l by K.S 74-8720 cket lo may con 800X.″ T	5.A. 74-8710; 0; effective, ttery game nduct an in- The rules for	; ; ;
proximately one in 3.26. (implementing K.S.A. 74- T-111-11-24-21, Nov. 10, 20 111-4-3694. "300X" number 225. (a) The Kans stant winner lottery game this game are contained in 4-3694.	Authorized -8710 and 021.) instant tions as lottery in entitled "3 in K.A.R. 111	l by K.S 74-8720 cket lo may con 800X.″ T 1-3-1 <i>et s</i>	5.A. 74-8710; 0; effective, ttery game nduct an in- he rules for <i>seq</i> . and 111-	-
proximately one in 3.26. (implementing K.S.A. 74- T-111-11-24-21, Nov. 10, 20 111-4-3694. "300X" number 225. (a) The Kans stant winner lottery game this game are contained in 4-3694. (b) The "play and prize	Authorized -8710 and 021.) instant tions as lottery in entitled "3 in K.A.R. 111	l by K.S 74-8720 cket lo may con 800X.″ T 1-3-1 <i>et s</i>	5.A. 74-8710; 0; effective, ttery game nduct an in- he rules for <i>seq</i> . and 111-	-
proximately one in 3.26. (implementing K.S.A. 74- T-111-11-24-21, Nov. 10, 20 111-4-3694. "300X" number 225. (a) The Kans stant winner lottery game this game are contained in 4-3694.	Authorized -8710 and 021.) instant tions as lottery in entitled "3 in K.A.R. 111	l by K.S 74-8720 cket lo may con 800X.″ T 1-3-1 <i>et s</i>	5.A. 74-8710; 0; effective, ttery game nduct an in- he rules for <i>seq</i> . and 111-	-
proximately one in 3.26. (implementing K.S.A. 74- T-111-11-24-21, Nov. 10, 20 111-4-3694. "300X" number 225. (a) The Kans stant winner lottery game this game are contained in 4-3694. (b) The "play and prize	Authorized -8710 and 021.) instant tions as lottery of entitled "3 MK.A.R. 111 e symbols"	l by K.S 74-8720 cket lo may con 800X.″ T 1-3-1 <i>et s</i>	5.A. 74-8710; 0; effective, nduct an in- The rules for Seq. and 111- aptions" for	-
proximately one in 3.26. (implementing K.S.A. 74- T-111-11-24-21, Nov. 10, 20 III-4-3694. "300X" number 225. (a) The Kans stant winner lottery game this game are contained in 4-3694. (b) The "play and prize this game are as follows:	Authorized -8710 and 021.) instant tions as lottery of entitled "3 MK.A.R. 111 e symbols"	l by K.S 74-8720 cket lo may con 300X." T 1-3-1 <i>et s</i> and "ca	A. 74-8710; 0; effective, nduct an in- the rules for <i>seq</i> . and 111- aptions" for ions	-
proximately one in 3.26. (implementing K.S.A. 74- T-111-11-24-21, Nov. 10, 20 111-4-3694. " 300X " number 225. (a) The Kans stant winner lottery game this game are contained in 4-3694. (b) The "play and prize this game are as follows: Play Symbo	Authorized -8710 and 021.) instant tions as lottery of entitled "3 MK.A.R. 111 e symbols"	l by K.S 74-8720 cket lo may con 600X." T 1-3-1 et s and "ca Capt	5.A. 74-8710; 0; effective, nduct an in- the rules for <i>seq</i> . and 111- aptions" for ions NE	-

\$100,0	00 1.00 \$100,000.00	40	FORTY
0) +		41	FRONE
) x 2) +		42	FRTWO
(10X) \$100,0	00 3.00 \$300,000.00	43	FRTHR
	165,889.00 \$7,678,000.00	44	FRFOR
AM	\$12,500.00	45	FRFIV
	\$70,000.00	46	FRSIX
ning a priz	e in this game are ap-	47	FRSEV
	ized by K.S.A. 74-8710;	48	FREGT
•	and 74-8720; effective,	49	FRNIN
), 2021.)		51	FTYON
		52	FTYTW
	t ticket lottery game	53	FTYTH
	ery may conduct an in-	54	FTYFR
	d "300X." The rules for	55	FTYFV
u III K.A.K.	111-3-1 <i>et seq</i> . and 111-	56	FTYSX
rizo symbo	ols" and "captions" for	57	FTYSV
's:	is and captions for	58	FTYEGT
		59	FTYNIN
nbols	Captions	60	SIXTY
	ONE	61	SXONE
	TWO	62	SXTWO
	THREE	63	SXTHR
	FOUR	64	SXFOR
	FIVE	65	SXFIV
	SIX	66	SXSIX
	SEVEN	67	SXSEV
	EIGHT	68	SXEGT
	NINE	69	SXNIN
	ELEVN	70	SEVNTY
	TWELV	71	SVONE
	THRTN	72	SVTWO
	FORTN	73	SVTHR
	FIFTN	74	SVFOR
	SIXTN	75	SVFIV
	SEVTN	76	SVSIX
	EGHTN	77	SVSEV
	NINTN	78	SVEGT
	TWONE	79	SVNIN
	TWTWO	80	EGHTY
	TWTHR	81	ETONE
	TWFOR	82	ETTWO
	TWFIV	83	ETTHR
	TWSIX	84	ETFOR
	TWSEV	85	ETFIV
	TWEGT	86	ETSIX
	TWNIN	87	ETSEV
	THRTY	88	ETEGT
	THONE	89	ETNIN
	THTWO	90	NINTY
	THTHR	10X (outlined)	WINX10
	THFOR	20X (outlined)	WINX20
	THFIV	50X (outlined)	WINX50
	THSIX	100X (outlined)	WINX100
	THSEV	200X (outlined)	WINX200
		()	

Kansas Register

	300X (outlined)	WINX300
BONUS:	Play Symbol	Caption

Symbol of a moneybag

......

Prize Symbols	Captions
WIN	WIN
\$5 ^{.00}	FIVE\$
\$10.00	TEN\$
\$20.00	TWENTY
\$30.00	THIRTY
\$50.00	FIFTY
\$100	HUNDRED
\$200	TWO-HUN
\$300	THR-HUN
\$500	FIV-HUN
\$2,000	TWO-THOU
\$10,000	TEN-THO
\$250,000	250-THO

MONEYBAG

(c) For this game, a play/prize symbol shall appear in 78 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 019.

(e) The price of instant tickets sold by a retailer for this game shall be \$30.00 each.

(f) "300X" is a key number match game with an instant win, bonus play, and multiplier features. The player will scratch the play area to reveal seven "WINNING NUM-BERS" and 30 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a "10X" symbol, the player wins 10 times the prize shown. If the player reveals a "20X" symbol, the player wins 20 times the prize shown. If the player reveals a "50X" symbol, the player wins 50 times the prize shown. If the player reveals a "100X" symbol, the player wins 100 times the prize shown. If the player reveals a "200X" symbol, the player wins 200 times the prize shown. If the player reveals a "300X" symbol, the player wins 300 times the prize shown. If the player reveals any moneybag symbols in the play area, the player will refer to the "BONUS PRIZE LEGEND" located to the side of the play area to determine the prize amount won: one symbol will win \$50, two symbols will win \$100, three symbols will win \$200, and four symbols will win \$500.

(g) Each ticket in this game may win up to 35 times.

(h) Approximately 450,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Winners Per		
Prize Description	Prize	450,000	Prize Cost
\$30	\$30	5,625.00	\$168,750.00
\$10 x 3	\$30	16,875.00	\$506,250.00

(\$5 x 2) + (\$10 x 2) \$20 + \$10	\$30 \$30	16,875.00 16,875.00	\$506,250.0 \$506,250.0
\$50	\$50 \$50	5,625.00	\$281,250.0
\$50 (Bonus)	\$50 \$50	22,500.00	\$281,230.0
\$10 x 5	\$50 \$50	16,875.00	
		11,250.00	\$843,750.0
(\$20 x 2) + \$10	\$50	,	\$562,500.0
\$100	\$100	300.00	\$30,000.0
\$100 (Bonus)	\$100	3,000.00	\$300,000.0
\$20 x 5	\$100	4,500.00	\$450,000.0
\$10 (10X)	\$100	4,500.00	\$450,000.0
(\$10 x 5) + \$50 (Bonus)	\$100	4,800.00	\$480,000.0
(\$5 x 10) + \$50 (Bonus)	\$100	5,400.00	\$540,000.0
\$200	\$200	60.00	\$12,000.0
\$200 (Bonus)	\$200	900.00	\$180,000.0
(\$10 x 5) + (\$5 x 10) +			
\$100 (Bonus)	\$200	840.00	\$168,000.0
$10(10X) + (20 \times 2) + 10 +$	***	000.00	#100.000 O
\$50 (Bonus)	\$200	900.00	\$180,000.0
\$10 (20X)	\$200	300.00	\$60,000.0
$(\$10 \times 10) + (\$30 \times 2) + (\$20 \times 2)$	\$200	900.00	\$180,000.0
\$10 (10X) + (\$10 x 10)	\$200	1,200.00	\$240,000.0
(\$5 x 2) + (\$10 x 2) + (\$20 x 2) +	****		*
\$30 + \$100 (Bonus)	\$200	2,400.00	\$480,000.0
\$300	\$300	60.00	\$18,000.0
\$10 (30X)	\$300	600.00	\$180,000.0
$10(20X) + (10 \times 5) +$			
\$50 (Bonus)	\$300	540.00	\$162,000.0
(\$10 (10X) x 2) + \$100 (Bonus)	\$300	300.00	\$90,000.0
\$500	\$500	30.00	\$15,000.0
\$500 (Bonus)	\$500	120.00	\$60,000.0
\$10 (50X)	\$500	60.00	\$30,000.0
\$20 (10X) + (\$10 x 5) + \$10 (20X) + \$50 (Bonus)	\$500	120.00	\$60,000.0
(\$20 x 5) + (\$10 x 10) + \$10 (10X) + \$200 (Bonus)	\$500	120.00	\$60,000.0
			\$150,000.0
(\$10 x 20) + (\$20 x 15)	\$500	300.00	
\$2,000 \$20 (100)()	\$2,000	6.00	\$12,000.0
\$20 (100X)	\$2,000	6.00	\$12,000.0
\$20 (50X) + \$50 (10X) + \$500 (Bonus)	\$2,000	6.00	\$12,000.0
\$5 (20X) + \$20 (50X) + \$50 (10X) + (\$30 x 2) +	φ2,000	0.00	\$12,000.0
$(\$20 \times 2) + \$200 + \$100$ (Bonus) $(\$10 (10X) \times 2) + \$50 (20X) +$	\$2,000	6.00	\$12,000.0
$(\$20 \times 27) + (\$30 \times 2) + \$200$			
(Bonus)	\$2,000	36.00	\$72,000.0
\$10,000	\$10,000	3.00	\$30,000.0
\$10 (200X) + \$20 (100X) + (\$30 (50X) x 2) + \$50 (20X) + \$100 (10X) + (\$20 x 5) +			
(\$50 x 14) + \$200 (Bonus) (\$20 (50X) x 4) + (\$100 x 15) +	\$10,000	3.00	\$30,000.0
(\$100 (10X) x 2) + \$10 (100X) + (\$500 x 2) + \$500 (Bonus)	\$10,000	3.00	\$30,000.0
\$250,000	\$10,000	1.00	\$250,000.0
\$50 (300X) + \$100 (200X) + \$200 (100X) + \$500 (50X) + \$2,000 (20X) + \$100 (300X) + \$200 (200X) +	φ230,000	1.00	\$250,000.0
(\$10,000 x 5) + (\$2,000 x 4) + (\$500 x 3) + \$500 (Bonus)	\$250,000	2.00 144,822.00	\$500,000.0 \$10,035,000.0
RESERVE FOR 2ND CHANCE D RESERVE FOR PLAYER LOYAL			\$15,000.0 \$10,151,000.0

(j) The odds of winning a prize in this game are approximately one in 3.11. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-11-24-21, Nov. 10, 2021.)

Article 19.—SPECIFIC PLAYER LOYALTY CLUB RULES

111-19-118. X Family Bonus Second-Chance Drawings. (a) The Kansas Lottery may conduct seven promotional drawings entitled "X Family Bonus Second-Chance Drawings" awarding cash prizes to players selected as winners. Entries into the drawings will be accepted beginning at 12:01 a.m. on the day the instant tickets designated in subsection (b) are first offered for sale to the general public and ending at 11:59 p.m. on September 25, 2022. The drawings will be conducted sometime after entry into the drawing has closed but before noon on September 29, 2022, at which time the winners will be announced.

(b) The specific tickets eligible for entry into these drawings shall be non-winning tickets for the following Kansas Lottery instant ticket games: \$1 "10X" game number 360; \$2 "20X" game number 361; \$3 "30X" game number 362; \$5 "50X" game number 363; \$10 "100X" game number 364; \$20 "200X" game number 365; and \$30 "300X" game number 225.

(c) There shall be one drawing conducted for each of the seven instant ticket games listed in subsection (b).

(d) A player shall enter each drawing through the Kansas Lottery PlayOn program available at www.kslottery. com. The player shall follow the hyperlink specifically designated for the purpose of accessing the "X Family Bonus Second-Chance Drawings" promotion. The player may enter the required data from the entry ticket manually for entry into each drawing. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into each drawing using a mobile device and a downloaded Kansas Lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using the app, the player will receive one entry into the drawing based on the specific non-winning ticket.

(e) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. The first entrant selected in each drawing shall be the winner of a cash prize.

(1) The first drawing conducted shall be from among the entrants in the \$1 10X, game number 360, secondchance drawing. The cash prize awarded to the first entrant selected in the first drawing shall be \$1,000.

(2) The second drawing conducted shall be from among the entrants in the \$2 20X, game number 361, second-chance drawing. The cash prize awarded to the first entrant selected in the second drawing shall be \$2,000.

(3) The third drawing conducted shall be from among the entrants in the \$3 30X, game number 362, second-chance drawing. The cash prize awarded to the first entrant selected in the third drawing shall be \$3,000.

(4) The fourth drawing conducted shall be from among the entrants in the \$5 50X, game number 363,

second-chance drawing. The cash prize awarded to the first entrant selected in the fourth drawing shall be \$5,000.

(5) The fifth drawing conducted shall be from among the entrants in the \$10 100X, game number 364, secondchance drawing. The cash prize awarded to the first entrant selected in the fifth drawing shall be \$10,000.

(6) The sixth drawing conducted shall be from among the entrants in the \$20 200X, game number 365, secondchance drawing. The cash prize awarded to the first entrant selected in the sixth drawing shall be \$12,500.

(7) The seventh drawing conducted shall be from among the entrants in the \$30 300X, game number 225, second-chance drawing. The cash prize awarded to the first entrant selected in the seventh drawing shall be \$15,000.

(f) There is no limit on the number of non-winning tickets a person may enter.

(g) The procedures set forth in K.A.R. 111-18-5 for contacting a winner and the claiming of the prize shall be followed, except that in this promotion the 10-day deadline for the winners to return their claim forms shall be 10 business days and commence with the date of the announcement of the winners. The Kansas Lottery is not responsible for electronic malfunction or player error.

(h) By entering the promotion, entrant agrees to PlayOn terms and conditions.

(i) Winners are responsible for any state and federal taxes.

(j) Rules applicable to this promotion are contained in K.A.R. 111-19-118 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-11-24-21, Nov. 10, 2021.)

111-19-119. PlayOn Home Entertainment Package Giveaway Drawings. (a) The Kansas lottery may conduct two drawings entitled "PlayOn Home Entertainment Package Giveaway Drawings" in which one Kansas lottery player will win the prize package listed in subsection (d)(1) and one Kansas lottery player will win the prize package listed in subsection (d)(2). The Kansas lottery will accept entries into the drawings beginning at 12:01 a.m. on January 24, 2022. Entry deadline for the drawings will be at 11:59 p.m. on April 24, 2022. The drawings will be conducted sometime after entry into the drawings has closed but before noon on April 28, 2022, at which time the winners will be announced.

(b) Only registered Kansas Lottery PlayOn ("PlayOn") members may enter the drawings. PlayOn members must enter themselves into the drawings according to the terms and conditions of PlayOn. Entries shall not be accepted that are submitted by any method other than through PlayOn.

(c) A total of 1,156 player loyalty club points are required for a PlayOn member to enter once into the drawing for the Outdoor Entertainment Prize Package. A total of 1,121 player loyalty club points are required for a PlayOn member to enter once into the drawing for the Indoor Entertainment Prize Package. A player may enter the drawings as many times as the player's points allow. At the time of each entry, the player will select for which prize package they are entering to win.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed.

For each PlayOn Home Entertainment Package Giveaway drawing, the Kansas lottery shall award one player selected a prize package. The prize packages shall consist of the following:

(1) The Outdoor Entertainment Prize Package winner will receive the following:

(i) Cuisinart XL Outdoor Griddle Cooking Station;

(ii) Hanover Portable Wood Fired Pizza Öven;

(iii) Hanover Montclair 4-Piece Patio Conversation Set;

(iv) Furrion 65-Inch Aurora Full Shade 4K LED Outdoor TV with Weatherproof Cover;

(v) \$500 cash; and

(vi) State and federal mandatory income withholding taxes shall be paid

by the Kansas lottery. This prize package is valued at approximately \$10,560.16.

(2) The Indoor Entertainment Prize Package winner will receive the following:

(i) Samsung 86" Class LED 4K UHD Smart Tizen TV;

(ii) Polk Audio 5.1 Channel MagniFi Max Soundbar with one Wireless Subwoofer & two Surround Speakers;

(iii) Sanus Premium Series Advanced Full-Motion TV Wall Mount;

(iv) Corsair T2 Road Warrior Gaming Chair;

(v) Xbox Series X 1TB

(vi) X Box Games: NBA 2K22; Madden 22; FIFA 22; NHL 22; Forza Horizon 5; Halo Infinite;

(vii) \$100 Amazon Gift Card;

(viii) \$500 cash; and

(x) State and federal mandatory income withholding taxes shall be paid by the Kansas lottery. This prize package is valued at approximately \$10,211.09.

(e) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except as follows: in this promotion the 10day deadline for the winners to return their claim forms shall be 10 business days and commence with the date of the announcement of the winners. The Kansas lottery is not responsible for electronic malfunction or player error.

(f) In the event any prize awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions or other compensation shall be provided. Prizes will be fulfilled by Pollard Banknote Limited.

(g) The Kansas lottery retains the right to substitute an alternate prize of approximate equal value.

(h) By entering the drawings, entrant agrees to PlayOn terms and conditions.

(i) Rules applicable to this online event drawing are contained in K.A.R. 111-19-119 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-11-24-21, Nov. 10, 2021.)

Article 501.-SOUTH CENTRAL GAMING ZONE

111-501-152. Wagers and play. (a) All wagers at Criss Cross Poker shall be made by placing gaming chips and, if applicable, a match play coupon on the appropriate betting areas of the table layout. A verbal wager accompanied by cash shall not be accepted.

(b) A player must make an ante wager on the across cards and an ante wager on the down cards to participate in that round of play. Both ante wagers must be in the same amount.

(c) A player may also make an optional five card bonus wager. A player placing a five card bonus wager will win the wager if the five community cards constitute a pair of 6's or higher ranking hand.

(d) All wagers in subsection (b) and (c) must be made before the dealer deals the first card of the round.

(e) Once a player has placed a wager and received cards, that player must remain seated until the completion of the round of play. Only players who are seated at the table may touch the cards.

(f) Criss Cross Poker is played with one standard deck of 52 playing cards consisting of a 2, 3, 4, 5, 6, 7, 8, 9, 10, jack, queen, king and ace in each of the following four suits: hearts; diamonds; clubs; and spades.

(g) Before the first card is dealt in a round of play, all cards shall be shuffled with an automatic shuffle machine. Manual shuffling of the cards is not permitted.

(h) The dealing of cards for the game of Criss Cross Poker is as follows:

(1) To begin each round the dealer shall deal the five community cards face down on the gaming table in the form of a cross with the three across cards first placed horizontally on the gaming table, followed by one down card placed above the middle card of the across cards and then one down card placed below the middle card of the across cards;

(2) The dealer shall then deal two cards face down to the player farthest to his/her left, continuing to deal each player two cards face down in a clockwise manner. Each player shall receive two cards before the next player receives his or her cards;

(3) After all players have been given the opportunity to look at their two cards, in turn from the dealer's left to right the players have the following options:

(A) Fold and not participate further in that round of play, which will forfeit all wagers made by the player except for a five card bonus; or

(B) Make an across wager;

(4) The dealer shall then turn face up the first and last cards of the across cards, but not expose the middle card;

(5) The remaining players then have the following options:

(A) Fold and not further participate in that round of play, which will forfeit all wagers made by the player except for a five card bonus wager; or

(B) Make a down wager;

(6) The dealer shall then turn face up the top and bottom cards of the down cards, but not expose the middle card.

(7) The remaining players shall then have the following options:

(A) Fold and not further participate in that round of play, which will forfeit all wagers made by the player except for a five card bonus wager; or

(B) Make a middle card wager; and

(8) The dealer shall then reveal the middle card, which card shall be used for all remaining wagers.

(continued)

Kansas Register

AGENCY 5: DEPARTMENT OF

AGRICULTURE-DIVISION OF

WATER RESOURCES

Doc. No. 049667

(i) The five card bonus wager is resolved immediately before revealing any of the players' cards, regardless of player fold decisions, and is based on the five community cards only. Players will be eligible for the five card bonus regardless of win or loss on any other wager. Working from right to left the dealer shall reveal each player's cards. The player uses their two cards plus the three cards on the horizontal line of the cross to form an across hand and uses their two cards plus the three cards on the vertical line of the cross to form a down hand. The middle wager is paid if either the across or down hand,

INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended, and revoked administrative regulations and the volume and page number of the Kansas Register issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the Kansas Administrative Regulations and the 2021 Supplement of the Kansas Administrative Regulations. Regulations can also be found at http://www.sos. ks.gov/pubs/pubs_kar.aspx.

AGENCY 1: DEPARTMENT OF ADMINISTRATION

Reg. No. 1-18-1a 1-18-2	Action Amended Revoked	Register V. 40, p. 1490 V. 40, p. 1490	
AGENCY 4: DEPARTMENT OF			
	AGRICULTURE	1	
Reg. No.	Action	Register	
4-8-13	Amended	V. 40, p. 320	
4-8-14a	Amended	V. 40, p. 320	
4-8-27	Amended	V. 40, p. 320	
4-8-28	Amended	V. 40, p. 320	
4-8-29	Amended	V. 40, p. 320	
4-8-30	Amended	V. 40, p. 320	
4-8-31	Amended	V. 40, p. 320	
4-8-32	Amended	V. 40, p. 320	
4-8-33	Amended	V. 40, p. 320	
4-8-34	Amended	V. 40, p. 321	
4-8-35	Amended	V. 40, p. 321	
4-8-36	Amended	V. 40, p. 321	
4-8-37	Amended	V. 40, p. 321	
4-8-38	Amended	V. 40, p. 321	
4-8-39	Amended	V. 40, p. 321	
4-8-40	Amended	V. 40, p. 321	
4-8-41	Revoked	V. 40, p. 321	
4-8-42	Revoked	V. 40, p. 321	
1 0 10	D 1 1	TT 10 ¹ 001	

Revoked

New

New

New

New

New

Amended

Amended

Amended

Amended

Amended (T)

Amended (T)

Amended (T)

V. 40, p. 321

V. 40, p. 321 V. 40, p. 322

V. 40, p. 322

V. 40, p. 322

V. 40, p. 322

V. 40, p. 191

V. 40, p. 1322

V. 40, p. 1663

V. 40, p. 1323

V. 40, p. 1664

V. 40, p. 1324

V. 40, p. 1665

Reg. No.	Action	Register
5-19-1	New	V. 40, p. 1680
5-19-2	New	V. 40, p. 1681
5-19-3	New	V. 40, p. 1681
5-19-4	New	V. 40, p. 1682
		V. 40, p. 1602
5-19-5	New	V. 40, p. 1682
AGENC	Y 7: SECRETAR	Y OF STATE
Reg. No.	Action	Register
7-48-1	New	V. 40, p. 263
AGEN	CY 11: DEPART	MENT OF
AGRIO	CULTURE-DIV	ISION OF
	CONSERVATI	ON
Reg. No.	Action	Register
11-9-5	Amended	V. 40, p. 427
AGEN	ICY 21: HUMAN	N RIGHTS
	COMMISSIC	
Reg. No.	Action	Register
21-40-10	Revoked	V. 40, p. 265
21-41-1	Revoked	V. 40, p. 265
21-41-2	Amended	V. 40, p. 265
21-41-3	Amended	V. 40, p. 265
21-41-4	Revoked	V. 40, p. 265
21-41-6	Amended	V. 40, p. 265
21-41-8	Amended	
		V. 40, p. 265
21-41-10	Amended	V. 40, p. 265
21-41-11	Revoked	V. 40, p. 265
AGENCY	(22: STATE FIR	E MARSHAL
Reg. No.	Action	Register
22-26-1	New (T)	V. 40, p. 1034
22-26-1	New	V. 40, p. 1444
22-26-2	New (T)	V. 40, p. 1035
22-26-2	New	V. 40, p. 1445
22-26-3	New (T)	V. 40, p. 1035
22-26-3	New	V. 40, p. 1445
22-26-4	New (T)	V. 40, p. 1036
22-26-5	New (T)	V. 40, p. 1037
22-26-5	New	V. 40, p. 1446
22-26-6	New (T)	V. 40, p. 1037
22-26-6	New	V. 40, p. 1446
22-26-7	New (T)	V. 40, p. 1037
22-26-7	New	V. 40, p. 1446
22-26-8	New (T)	V. 40, p. 1037
22-26-8	New	V. 40, p. 1447
22-26-9	New (T)	V. 40, p. 1038
22-26-9	New	V. 40, p. 1447
22-26-10	New (T)	V. 40, p. 1038
22-26-10	New (1)	V. 40, p. 1038 V. 40, p. 1447
		V 40 p 1029
22-26-11	New (T)	V. 40, p. 1038
22-26-11	New	V. 40, p. 1447
22-26-12	New (T)	V. 40, p. 1039
22-26-12	New	V. 40, p. 1448

or both, qualifies as a win and is paid at the odds of the highest-ranking of those hands.

(j) The dealer shall then pay all winning wagers and collect all losing wagers. (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-12-20-19, Nov. 13, 2019; amended, T-111-11-24-21, Nov. 10, 2021.)

> Stephen W. Durrell **Executive Director**

22-26-13	New (T)	V. 40, p. 1039
22-26-13	New	V. 40, p. 1448
22-26-14	New (T)	V. 40, p. 1039
22-26-14	New	V. 40, p. 1448
22-26-15	New (T)	V. 40, p. 1040
22-26-16	New (T)	V. 40, p. 1040
22-26-16	New	V. 40, p. 1449
	DEPARTMEN D ENVIRONM	T OF HEALTH
Reg. No. 28-18-1	Action Amended	Register
28-18-4	Amended	V. 40, p. 1547 V. 40, p. 1186
28-18-14	Amended	V. 40, p. 1180 V. 40, p. 1550
28-18-16	Amended	V. 40, p. 1551
28-18-17	Amended	V. 40, p. 1551
28-18a-4	Amended	V. 40, p. 1187
28-18a-24	Amended	V. 40, p. 1552
28-65-1	Amended	V. 40, p. 318
28-65-2	Amended	V. 40, p. 318
28-65-3	Amended	V. 40, p. 318
28-65-4	Amended	V. 40, p. 319
AGENCY 40: INSURANCE DEPARTMENT		
Reg. No.	Action	Register
40-1-28	Amended	V. 40, p. 191
40-1-52	New	V. 40, p. 191
		. 1
ACE	NCV 60. BOAL	2D OF
AGI	ENCY 60: BOAH NURSING	RD OF
AGI Reg. No.		RD OF Register
Reg. No. 60-1-102	NURSING Action Amended	Register V. 40, p. 1707
Reg. No. 60-1-102 60-1-104	NURSING Action Amended Amended	Register V. 40, p. 1707 V. 40, p. 1708
Reg. No. 60-1-102 60-1-104 60-2-101	NURSING Action Amended Amended Amended	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102	NURSING Action Amended Amended Amended Amended	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102 60-2-103	NURSING Action Amended Amended Amended Amended	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102 60-2-103 60-2-104	NURSING Action Amended Amended Amended Amended Amended	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1712
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102 60-2-103 60-2-104 60-2-105	NURSING Action Amended Amended Amended Amended Amended Amended	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1712 V. 40, p. 1713
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102 60-2-103 60-2-104	NURSING Action Amended Amended Amended Amended Amended	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1712 V. 40, p. 1713 V. 40, p. 1713
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102 60-2-103 60-2-104 60-2-105 60-2-106	NURSING Action Amended Amended Amended Amended Amended Amended Amended	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1712 V. 40, p. 1713
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102 60-2-103 60-2-104 60-2-105 60-2-106 60-2-107 60-2-108	NURSING Action Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1712 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1714 RD OF
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102 60-2-103 60-2-104 60-2-105 60-2-107 60-2-108 AGH	NURSING Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1712 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1714 RD OF
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102 60-2-103 60-2-104 60-2-105 60-2-105 60-2-107 60-2-108 AGH Reg. No.	NURSING Action Amended Amended Amended Amended Amended Amended Amended Amended ENCY 61: BOAR BARBERING Action	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1712 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1714 RD OF Register
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102 60-2-103 60-2-104 60-2-105 60-2-107 60-2-107 60-2-108 AGH Reg. No. 61-4-3	NURSING Action Amended Amber	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1711 V. 40, p. 1712 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1714 XD OF Register V. 40, p. 161
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102 60-2-103 60-2-104 60-2-105 60-2-107 60-2-107 60-2-108 AGH Reg. No. 61-4-3 AGH	NURSING Action Amended Amended Amended Amended Amended Amended Amended Amended ENCY 61: BOAR BARBERING Action	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1711 V. 40, p. 1712 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1714 XD OF Register V. 40, p. 161 XD OF
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102 60-2-103 60-2-104 60-2-105 60-2-107 60-2-107 60-2-108 AGH Reg. No. 61-4-3 AGH	NURSING Action Amended Amended Amended Amended Amended Amended Amended Amended ENCY 61: BOAF BARBERING Action New ENCY 66: BOAF	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1711 V. 40, p. 1712 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1714 XD OF Register V. 40, p. 161 XD OF
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-103 60-2-103 60-2-104 60-2-105 60-2-106 60-2-107 60-2-108 AGH Reg. No. 61-4-3 AGH	NURSING Action Amended Amended Amended Amended Amended Amended Amended Amended Amended ENCY 61: BOAH BARBERING Action New ENCY 66: BOAH	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1712 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1714 RD OF SSIONS
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-103 60-2-103 60-2-104 60-2-105 60-2-106 60-2-107 60-2-108 AGE Reg. No. 61-4-3 AGE Reg. No. 66-12-1 AGE	NURSING Action Amended Amended Amended Amended Amended Amended Amended Amended Amended ENCY 61: BOAR BARBERING Action New ENCY 66: BOAR NICAL PROFE Action	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1711 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1714 RD OF SSIONS Register V. 40, p. 670 RD OF
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102 60-2-103 60-2-105 60-2-105 60-2-107 60-2-107 60-2-108 Reg. No. 61-4-3 AGH Reg. No. 66-12-1 AGE	NURSING Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended BARBERING Action New ENCY 66: BOAE NICAL PROFE Action Amended SNCY 69: BOAE	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1711 V. 40, p. 1712 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1714 RD OF SIONS Register V. 40, p. 670 RD OF SIONS Register V. 40, p. 670
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102 60-2-103 60-2-104 60-2-105 60-2-106 60-2-107 60-2-107 60-2-108 AGH Reg. No. 66-12-1 AGE (Reg. No.	NURSING Action Amended Amended Amended Amended Amended Amended Amended Amended Amended COCY 61: BOAH BARBERING Action New ENCY 66: BOAH NICAL PROFE Action Amended NICAL PROFE Action Amended COSMETOLOC Action	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1712 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1714 RD OF SSIONS Register V. 40, p. 670 RD OF GY Register
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-103 60-2-103 60-2-104 60-2-105 60-2-106 60-2-106 60-2-107 60-2-108 AGH Reg. No. 61-4-3 AGH TECHI Reg. No. 66-12-1 AGE (Reg. No. 69-1-4	NURSING Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended BARBERING Action New ENCY 66: BOAE NICAL PROFE Action Amended SNCY 69: BOAE	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1714 RD OF SSIONS Register V. 40, p. 670 RD OF SY Register V. 40, p. 670
Reg. No. 60-1-102 60-1-104 60-2-101 60-2-102 60-2-103 60-2-104 60-2-105 60-2-106 60-2-107 60-2-107 60-2-108 AGH Reg. No. 66-12-1 AGE (Reg. No.	NURSING Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended ENCY 61: BOAE BARBERING Action New ENCY 66: BOAE NICAL PROFE Action Amended NCY 69: BOAE COSMETOLOC Action Amended	Register V. 40, p. 1707 V. 40, p. 1708 V. 40, p. 1709 V. 40, p. 1710 V. 40, p. 1711 V. 40, p. 1712 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1713 V. 40, p. 1714 RD OF SSIONS Register V. 40, p. 670 RD OF GY Register

1764

4-8-43

4-8-44

4-8-45

4-8-46

4-8-47

4 - 8 - 48

4-34-1

4-34-24

4-34-24

4-34-25

4-34-25

4-34-29

4-34-29

V. 40, p. 1448

AGENCY 82: STATE CORPORATION COMMISSION

Reg. No.	Action	Register
82-4-30a	Amended (T)	V. 39, p. 1383
82-4-30a	Amended	V. 40, p. 160
82-11-2	Amended	V. 40, p. 1636
82-11-3	Amended	V. 40, p. 1636
82-11-4	Amended	V. 40, p. 1638
82-11-6	Amended	V. 40, p. 1643
82-11-7	Amended	V. 40, p. 1645
82-11-10	Amended	V. 40, p. 1645

AGENCY 86: REAL ESTATE COMMISSION

Reg. No.	Action	Register
86-3-10	Amended	V. 40, p. 497
86-3-18	Amended	V. 40, 497
86-3-21	Revoked	V. 40, p. 498
86-3-22	Amended	V. 40, p. 498

AGENCY 91: DEPARTMENT OF EDUCATION

Reg. No.	Action	Register
91-31-31	Amended	V. 40, p. 1399
91-31-32	Amended	V. 40, p. 1401
91-31-33	Amended	V. 40, p. 1401
91-31-34	Amended	V. 40, p. 1401
91-31-35	Amended	V. 40, p. 1402
91-31-36	Amended	V. 40, p. 1402
91-31-37	Amended	V. 40, p. 1403
91-31-38	Amended	V. 40, p. 1403
91-31-39	Revoked	V. 40, p. 1403
91-31-40	Amended	V. 40, p. 1403
91-31-41	Amended	V. 40, p. 1404
91-31-42	Amended	V. 40, p. 1404
91-31-43	New	V. 40, p. 1404

AGENCY 92: DEPARTMENT OF REVENUE

Reg. No.	Action	Register
92-19-47	Revoked	V. 40, p. 290
92-19-67	Revoked	V. 40, p. 290
92-51-34a	Amended	V 40 p 1225

AGENCY 100: BOARD OF HEALING ARTS

Reg. No.	Action	Register
100-6-2	Amended	V. 40, p. 571
100-6-2a	New	V. 40, p. 290
100-6-7	New (T)	V. 40, p. 1321
100-6-7	New	V. 40, p. 1490
100-8-3	New	V. 40, p. 572
100-15-4	Amended	V. 40, p. 572
100-15-5	Amended	V. 40, p. 573
100-28a-5	Amended	V. 40, p. 1096
100-28a-16	Amended	V. 40, p. 1097

AGENCY 108: STATE EMPLOYEE HEALTH CARE COMMISSION

Reg. No.	Action	Register
108-1-1	Amended	V. 40, p. 1714
108-1-3	Amended	V. 40, p. 1716
108-1-4	Amended	V. 40, p. 1718

AGENCY 109: BOARD OF EMERGENCY MEDICAL SERVICES

Reg. No.	Action	Register
109-1-1	Amended	V. 40, p. 1721
109-2-1	Amended	V. 40, p. 1723
109-3-1	Revoked	V. 40, p. 1723
109-3-3	Amended	V. 40, p. 1522
109-3-5	Amended	V. 40, p. 1524
109-5-1	Amended	V. 40, p. 1723
109-5-3	Amended	V. 40, p. 1724
109-5-6	Amended	V. 40, p. 1724

Kansas Register

Amended

Amended

Amended

Amended

Amended

Amended

Revoked

Amended

Amended

AGENCY 111: KANSAS LOTTERY

by the Kansas Lottery from 1988 through 2000

can be found in the Vol. 19, No. 52, December

28, 2000 Kansas Register. A list of regulations

filed from 2001 through 2003 can be found in

the Vol. 22, No. 52, December 25, 2003 Kansas

Register. A list of regulations filed from 2004

through 2005 can be found in the Vol. 24, No.

52, December 29, 2005 Kansas Register. A list of regulations filed from 2006 through 2007

can be found in the Vol. 26, No. 52, December

27, 2007 Kansas Register. A list of regulations

filed from 2008 through November 2009 can

be found in the Vol. 28, No. 53, December

31, 2009 Kansas Register. A list of regulations

filed from December 1, 2009, through Decem-

ber 21, 2011, can be found in the Vol. 30, No.

52, December 29, 2011 Kansas Register. A list

of regulations filed from December 22, 2011,

through November 6, 2013, can be found in

the Vol. 32, No. 52, December 26, 2013 Kansas

Register. A list of regulations filed from No-

vember 7, 2013, through December 31, 2015,

can be found in the Vol. 34, No. 53, December

31, 2015 Kansas Register. A list of regulations

filed from 2016 through 2017, can be found in

the Vol. 36, No. 52, December 28, 2017 Kansas

Register. A list of regulations filed from 2018

through 2019, can be found in the Vol. 38, No.

Register

V. 39, p. 1460

V. 40, p. 1225

V. 39, p. 57

V. 39, p. 58

V. 39, p. 59

V. 39, p. 60

V. 39, p. 61

V. 39, p. 63

V. 39, p. 532

V. 39, p. 533

V. 39, p. 570

V. 39, p. 572

V. 39, p. 573

V. 39, p. 574

V. 39, p. 576

V. 39, p. 621

V. 39, p. 623

V. 39, p. 624

V. 39, p. 854

V. 39, p. 855

V. 39, p. 856

V. 39, p. 858

V. 39, p. 859

52, December 26, 2019 Kansas Register.

Action

Amended

New

Reg. No.

111-2-328

111-4-3547 111-4-3595

111-4-3596

111-4-3597

111-4-3598

111-4-3599

111-4-3600

111-4-3601

111-4-3602

111-4-3603

111-4-3604

111-4-3605

111-4-3606

111-4-3607

111-4-3608

111-4-3609

111-4-3610

111-4-3611

111-4-3612

111-4-3613

111-4-3614

111-4-3615

A complete index listing all regulations filed

New

New

New

New

New

109-6-2

109-6-4

109-7-1

109-10-3

109-10-6

109-10-7

109-11-1a

109-11-3a

109-11-4a

109-11-6a

109-11-7

109-11-8

109-11-9

109-15-1

109-15-2

109-15-3

109-17-1

109-17-2

109-17-3

109-17-4

V. 40, p. 1725

V. 40, p. 1726

V. 40, p. 1726

V. 40, p. 1726

V. 40, p. 1727

V. 40, p. 1727

V. 40, p. 1727

V. 40, p. 1727

V. 40, p. 1728

V. 40, p. 1728

V. 40, p. 1729

V. 40, p. 1730

V. 40, p. 1730

V. 40, p. 1731

		1,00
111-4-3616	New	V. 39, p. 860
111-4-3617	New	V. 39, p. 861
111-4-3618	New	V. 39, p. 862
111-4-3619	New	V. 39, p. 862
111-4-3620	New	V. 39, p. 864
111-4-3621	New	V. 39, p. 865
111-4-3623	New	V. 39, p. 866
111-4-3624	New	V. 39, p. 891
111-4-3625	New	V. 39, p. 892
111-4-3626	New	V. 39, p. 893
111-4-3627	New	V. 39, p. 894
111-4-3628	New	V. 39, p. 896
111-4-3629	New	V. 39, p. 897
111-4-3630	New	V. 39, p. 900
111-4-3631	New	V. 39, p. 1076
111-4-3632	New	V. 39, p. 1077
111-4-3633	New	V. 39, p. 1109
111-4-3634	New	V. 39, p. 1109
111-4-3635 111-4-3636	New	V. 39, p. 1110
111-4-3637	New New	V. 39, p. 1111
111-4-3638	New	V. 39, p. 1113 V. 39, p. 1114
111-4-3639	New	V. 39, p. 1114 V. 39, p. 1333
111-4-3640	New	V. 39, p. 1334
111-4-3641	New	V. 39, p. 1334 V. 39, p. 1335
111-4-3642	New	V. 39, p. 1336
111-4-3643	New	V. 39, p. 1404
111-4-3644	New	V. 39, p. 1460
111-4-3645	New	V. 39, p. 1462
111-4-3646	New	V. 39, p. 1463
111-4-3647	New	V. 39, p. 1465
111-4-3648	New	V. 39, p. 1466
111-4-3649	New	V. 40, p. 40
111-4-3650	New	V. 40, p. 41
111-4-3651	New	V. 40, p. 192
111-4-3652	New	V. 40, p. 193
111-4-3653	New	V. 40, p. 194
111-4-3654	New	V. 40, p. 196
111-4-3655	New	V. 40, p. 197
111-4-3656	New	V. 40, p. 199
111-4-3657	New	V. 40, p. 427
111-4-3658	New	V. 40, p. 573
111-4-3659	New	V. 40, p. 575
111-4-3660 111-4-3661	New New	V. 40, p. 576
111-4-3662	New	V. 40, p. 920 V. 40, p. 921
111-4-3663	New	V. 40, p. 1133
111-4-3664	New	V. 40, p. 1134
111-4-3665	New	V. 40, p. 1135
111-4-3666	New	V. 40, p. 1136
111-4-3667	New	V. 40, p. 1137
111-4-3668	New	V. 40, p. 1138
111-4-3669	New	V. 40, p. 1157
111-4-3670	New	V. 40, p. 1158
111-4-3671	New	V. 40, p. 1226
111-4-3672	New	V. 40, p. 1227
111-4-3673	New	V. 40, p. 1228
111-4-3674	New	V. 40, p. 1228
111-4-3675	New	V. 40, p. 1229
111-4-3676	New	V. 40, p. 1230
111-4-3677	New	V. 40, p. 1232
111-4-3678	New	V. 40, p. 1350
111-4-3679	New	V. 40, p. 1351
111-4-3680	New	V. 40, p. 1352
111-4-3681	New	V. 40, p. 1354
111-4-3682 111-4-3683	New	V. 40, p. 1423 V 40 p. 1425
111-4-3683 111-4-3684	New New	V. 40, p. 1425 V. 40, p. 1577
111-4-3685	New	V. 40, p. 1577 V. 40, p. 1578
111-4-3686	New	V. 40, p. 1579
111-4-5000	Amended	V. 40, p. 1379 V. 40, p. 922
111-5-24	Amended	V. 40, p. 922
111-5-223	Amended	V. 40, p. 428
111-5-245	New	V. 39, p. 577
111-5-246	New	V. 40, p. 429
111-5-247	New	V. 40, p. 1139

Vol. 40, No. 51, December 23, 2021

_ Kansas Register _____

111-9-223	New	V. 39, p. 625	111-19-105	New	V. 40, p. 1140	111-501-108	Amended	V. 40, p. 431	
111-9-224	New	V. 39, p. 867	111-19-106	New	V. 40, p. 1140	111-501-109	Amended	V. 40, p. 431	
111-9-225	New	V. 40, p. 578	111-19-107	New	V. 40, p. 1161	111-501-149	New	V. 39, p. 72	
111-9-226	New	V. 40, p. 923	111-19-108	New	V. 40, p. 1161	111-501-150	New	V. 39, p. 72	
111-9-227	New	V. 40, p. 923	111-19-109	New	V. 40, p. 1162	111-501-150	Amended	V. 40, p. 1236	
111-9-228	New	V. 40, p. 924	111-19-110	New	V. 40, p. 1234	111-501-151	New	V. 39, p. 73	
111-15-1	Amended	V. 40, p. 1159	111-19-111	New	V. 40, p. 1235	111-501-152	New	1	
111-15-3	Amended	V. 40, p. 1160	111-19-112	New	V. 40, p. 1235			V. 39, p. 74	
111-15-4	Amended	V. 39, p. 1081	111-19-113	New	V. 40, p. 1236	111-601-4	Amended	V. 39, p. 1117	
111-15-5	Amended	V. 39, p. 1081	111-19-114	New	V. 40, p. 1354	111-601-6	Amended	V. 39, p. 1117	
111-15-6	Amended	V. 39, p. 1081	111-19-115	New	V. 40, p. 1581	111-601-35	Amended	V. 40, p. 580	
111-15-10	Amended	V. 39, p. 1082	111-19-116	New	V. 40, p. 1581	AGENC	AGENCY 115: DEPARTMENT OF		
111-19-72	Amended	V. 39, p. 64	111-19-117	New	V. 40, p. 1582		WILDLIFE AND PARKS		
111-19-73	New	V. 39, p. 64	111-301-3	Amended	V. 40, p. 924				
111-19-74	New	V. 39, p. 65	111-301-4	Amended	V. 39, p. 534	Reg. No.	Action	Register	
111-19-75	New	V. 39, p. 65	111-301-5	Amended	V. 40, p. 925	115-1-1	Amended	V. 40, p. 498	
111-19-76	New	V. 39, p. 74	111-301-6	Amended	V. 40, p. 926	115-3-1	Amended	V. 40, p. 1131	
111-19-77	New	V. 39, p. 578	111-301-43	Amended	V. 39, p. 537	115-3-2	Amended	V. 40, p. 721	
111-19-78	New	V. 39, p. 579	111-301-60	Amended	V. 39, p. 66	115-4-4	Amended	V. 40, p. 1132	
111-19-79	New	V. 39, p. 580	111-301-62	Amended	V. 39, p. 67	115-4-4a	Amended	V. 40, p. 1683	
111-19-80	New	V. 39, p. 626	111-301-64	Amended	V. 39, p. 538	115-4-6	Amended	V. 40, p. 500	
111-19-81	New	V. 39, p. 626	111-301-66	Amended	V. 39, p. 538	115-8-1	Amended	V. 40, p. 1133	
111-19-82	New	V. 39, p. 868	111-301-72	New	V. 39, p. 1338	115-9-6	Amended	V. 40, p. 721	
111-19-83	New	V. 39, p. 868	111-301-73	New	V. 39, p. 1338	115-17-2	Amended	V. 40, p. 1683	
111-19-84	New	V. 39, p. 868	111-301-74	Amended	V. 40, p. 928	115-18-13	Revoked	V. 40, p. 721	
111-19-85	New	V. 39, p. 869	111-301-75	Amended	V. 40, p. 928	115-30-3	Amended	V. 40, p. 1684	
111-19-86	New	V. 39, p. 870	111-301-76	Amended	V. 40, p. 928			1	
111-19-87	New	V. 39, p. 901	111-302-4	Amended	V. 39, p. 68		AGENCY 117: REAL ESTATE		
111-19-88	New	V. 39, p. 901	111-302-5	Amended	V. 39, p. 1082	A	APPRAISAL BOARD		
111-19-89	New	V. 39, p. 1082	111-305-5	Amended	V. 39, p. 539	Reg. No.	Action	Register	
111-19-90	New	V. 39, p. 1115	111-305-6	Amended	V. 39, p. 539	117-8-3	Amended	V. 40, p. 920	
111-19-91	New	V. 39, p. 1116	111-401-253	New	V. 39, p. 69			1	
111-19-92	New	V. 39, p. 1116	111-401-254	New	V. 39, p. 69	AGENCY 132: 911			
111-19-93	New	V. 39, p. 1337	111-401-255	New	V. 39, p. 71	COOF	RDINATING C	OUNCIL	
111-19-94	New	V. 39, p. 1405	111-501-16	Amended	V. 40, p. 1355	Reg. No.	Action	Register	
111-19-95	New	V. 39, p. 1405	111-501-18	Amended	V. 40, p. 1355	132-1-1	Revoked	V. 40, p. 1422	
111-19-96	New	V. 39, p. 1406	111-501-19	Amended	V. 40, p. 1356	132-1-2	New	V. 40, p. 1422 V. 40, p. 1422	
111-19-97	New	V. 40, p. 42	111-501-20	Amended	V. 40, p. 1357	132-2-1	Amended	V. 40, p. 1422 V. 40, p. 1422	
111-19-98	New	V. 40, p. 43	111-501-22	Amended	V. 40, p. 1163	132-3-1	Amended	V. 40, p. 1422 V. 40, p. 1422	
111-19-99	New	V. 40, p. 44	111-501-44	Amended	V. 40, p. 929				
111-19-100	New	V. 40, p. 200	111-501-45	Amended	V. 40, p. 1426	132-4-1	Amended	V. 40, p. 1422	
111-19-101	New	V. 40, p. 430	111-501-71	Amended	V. 39, p. 1340	132-4-2	New	V. 40, p. 1423	
111-19-102	New	V. 40, p. 578	111-501-81	Amended	V. 39, p. 1340	132-4-3	New	V. 40, p. 1423	
111-19-103	New	V. 40, p. 579	111-501-105	Amended	V. 40, p. 430	132-5-1	New	V. 40, p. 1423	
111-19-104	New	V. 40, p. 1139	111-501-107	Amended	V. 40, p. 431	132-6-1	New	V. 40, p. 1423	

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594